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Ants have helpful little friends. They are insects called

aphids. Aphids take in sweet juice from host plants. So their

to the aphids to get some juice. Aphids kindly give the hungry

*aphid: 21512

ants some juice. [éifid]

v *aphid: TSI [Ok:#£10]
ants some juice. féifid] %
A%

’ eggs until they hatch in spring. This way, ants
d on each other to survive.
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 get juice + «from big animals.
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+ can find a new plant+  + from the aphids.
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(2) Aphids + « protect these insects + « thanks to the ants.
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+ care for the aphids' eggs *—+ until they hatch.
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- We didn’t know why the dogs were barking.
2l o 70| 513 K| 2| R

- She wanted fo know where the ants started.
2 Ol JHOlSO0l BUBEX 2 419ick
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- The owl’'s message tells Harry what to do.
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1 CiS 2ol S ol Yot wE naKe.

(1) Do you know (what is her name / what her name is)?
@) Tell me (when docs the shop open / when the shop opens).

(3) Ms. Lee didn’t tell us (where to meet / where to meeting).
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(swim / how / t0)
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(will come / when / the earthquake )




@ always follow you.
he 8 g8 weatcict/ U= 2E A8 Bict/
I run.
L= g2ict/ Sxigt

‘When you run,

on the weather.
Uct/ (7)) sHas1t /

weather) 21 = 1)

I do @ everything
But I dor

When € it is sunny, / I sh
L,

Lt

1am a dark shape. /1 © always follow you. /1 do © everything | you do.
© When you walk, T walk. * When you run, 1 run. * But T don't make any i,

My prescnce / depends on the weather,/ When O it i sunny, /1 showe up. / But when it

is clouds /1 disappear. / What am 17

5w ] ‘WHORI HOE Ol 20| YOI AT WUSIK| S FE HIE AL usually(S)
often(&) sometimes(tat) §01 ik,
© you dosteverythingE +41ek 1D} 3
© When2 "~ ol Siojel HAAKEL
x. When| feelsad, | sten to music. &4 1 ik 898 Siee|.
© ML AL 29 2 W OIFE, 7l S LIEK 1 1§ 012 Agsfird, oA e 5l s Fojel
oAg o2 e Fofen ol
. Itis March 15th (2 38 15201 It six oclock. (A2 A

£ 2f0lek e

ED i e ofelch the 4 A selchich U 0] ohi S8 2 W) Al 22 9, e
ek, 400] 98 o, L Heich Shal e oftl 5 A sk ol e el et e
(407D 2981 b e, 1215 (7)) Bt s Afich, Lhs Sotint?

0 2 e S A0 0
EIEEN 1@ 2shake

128 7 7= YOS Qofd Aio] S £5217] AEKCKthe bed stats o shake) $20E 0[0p
L4892 A1 2 M0l @ 8 WO LIZ(gets ot of bec) tIIK| M4 Bl B50| HEsic
27251 2724 $0RIR BE0ICHE el Eofs shakel8H2IcHolc

e i An imer

n amaing bed, . the “Thed Shaber” I wakes you up  widhout any trouble

© unil dhe peson et out of bed.

ST 0 00} 2ojxit 3 xeid 7150f 0] 2 AF0fs Sl £, 10 get up i the momingo] ZFof0LT.
12 7502 sHAHR| el

Engtnd | wved the

1o ke The bl © keeps shaking

o

ork by tomorrow. Exe
250

= ugey)

© Keop +ing.ie AREHA ~31c12I SD0LL
O untt ~2 WATelE ol HAKOI

x. She keeps caling me untl | ge he phone.

A 0 O A AN B

OOl el A2 494 6, 93] 8 4P o

o, TAS Sl o) $UE ALT, Yol Actel S, e BH) A,

ek 1 4] koA L A Ao

ks

I 2iZe UM 4= Aa

12 20 expensive @save

1 sharing economy(@% W= WIS ALE O CIE ARI3 # AIgSI 0oz a0 B8 He

ot

20) Aol 22 el ol
@5 Aol b e

Sometmnes / you necd 3 bk, But

You can borron a ik / from © others! / This i calkd / che “sharing cconomny

- expensiveltity)
— savefzeteic)

itis cxpensive 1o by © ome. * Wht do you do ther?

& S, s e Shaker

cars and howses, / This way, / you

s e tinge

You can cen ormne
v money. i gond o the environmens, o,
bl sl

(=]
23 sjug gola!

CUNIT 01>

2

3

[Workbook (IR R

A&S 2712 B 4 Sojl

CUNIT 01>

Grammar & Writing Practice

prp—
21 SI0l 451 M Y K2, A 25 ool Fofzl IR AIgsi0] BXS BB,
1 2=2 2ol £2 &ch, (windy and cold )
' shape - is today.
2 HAS WOl 2= %2 F. ( eata lot of vegetables )
presence - isgood
depend on 3 OIYEES SEs %2 2K Uck (take care of pets )

- is not easy
7 inventor
* show up
* borrow
“save e S50l Sl FOIE) L I tHEBIMR.

B 2z 50l 2l Fofxl
"'remember U7} S 0, L ARRFRICE
When
e (1 disappear / cloudy / itis )
“camel 2ilols At ol Ech
. it
Ci=38 (very cold /in Russi

“thanks to 3 AoloIN 88 = 2 ofaick

St
“connect Awith 8 (in the desert/is difficult/ to find water )
relate Ato B 4 ofl x| wolts e 8 e,
Simagine e

9 (10 get up /is not easy / early in the morning

02 Readers Bank Workbeok 03

Unit I
0 LemRE0 s cost/[kost] A=
darkiao) e e
. Jrs——
shapeticel e sxea ist] 9
el waste [weist] #0122/ oo
ottowiikel -
-
everythinglevinn s senseu
rytt !» ol -
o] itz
™
resencelpm) i o
I e 8D~ BCH
dependon gz )
wastelos) s -
‘show up. e
disoppeartaepie i utxer
0 ey T=an L (00 SEIAIRI0W Al e Ll
inventor (invéaty) e WH et invent W) camel (kémad] o e
solve the problem pr— savetcl i r——
amazing omsinl -4 weig fatiteq & .
wake up. ek humplhamp) < eSS
‘without any trouble 0f24% 201 . trouble EX) Solsou] &% u
shaketi s asea desertisn) i< ™
Keep -ing — storeup [ —
- v thanks to ~ciew

* WMARR XIRZ0ll= UnitH2 450| 7t 2XIX|7t HZEL|ch
Word Test1 / Word Test2 / Grammar Test1 / Grammar Test2

2 A3, ojhME O3S

o
S5 4 i




tents

UNIT &)

1 L= [erol

Hey Structures

2 212 THe! R A

° |t is ~: H|QIZ! 20f

3 A= U= 4= AT

° |tis ~ + toB YA .1 7}F 0]

4 LIEFTE AFOIA Ak 2

5 K101 ol e

12
13
14
15

16

UNIT &)

Hey Structures

* have[had] to + SAIH

don’t[didn’t] have to + SALH 3 Apple AIQ| Eral 215}

* tiSAt do / did 4 SOk 2 &

20
21
22
23

.24



UNIT @

Hey Structures

® one / ones

® one ~, the other ...

1 OHHOI M=

0
ra

A0l =

rr
g

=
=

OHYrO) AEH

2
3 SDE ol oh
A
5

S0 25 2

-/

28
29
30
31

32

€ 4

] 220 2=HR 36
Key Structures o
2 I 22| 20 ZS5HR! 37
° toR AL =4
3 25t Wz 38
* 2 WAL + toS AL 2Ol
4 2EZIB01 S A 39
5 SIENt =2 U2 IS 40
SINHCH Bi5Hs Liol 243 44
Hey Structures
2 2p L2 22 =0 45
o HASAL + FAL i o
A + BIREALL 3 HIZIS AR2E Galls 4é
o find[see] + (CH)HA} + SR A 4 UG HA 2L 0N IA 47
5 ggigel 224 Jack Ma 48




(s

Hey Structures

* as + FBAHEAL] + as ~

* Hli2 g + than ~

-

SREE

S40] EHHLIZ EETH?

& QT sAH A=

AFA0] E0F5H= A4

o W N

F79| Lket, Eer

52

.53

54
55

56

UNIT &

Hey Structures

* Until + 20] + SAt

* While + 30 + A}

UNIT @

Hey Structures

© QR4+ 20f + SAf

| 2 A2 B DS0| SM 60
2 TR AQEIR! 2l 012 61
" Fverytime + 501+ &4 3 oMol 2t =2 62
& 010) 2B 2ZOICH 6
5 Q=01 TAisHs 120 6
1 THOI0F, L 200 of 2112 68
2 E21 & ug) 2 2017 69
3 AR =5l == 70

© O|Z AL+ toSHA}

4 Bhel &

72



UNIT @

Hey Structures

¢ give[bring] someone something

* send someone something

1 LmO| TR Bi5Hs &

(o

-

0

-

2 W0F AH0| 1125

=]

e B

Hol

3 22649

10
1l

u

n
=

4 242 301301 =
5 THDIQH RS0 B4

o
rr

0L

.76
77

.78

79
80

unir

Hey Structures
* make + 2210| + LAt

* help + 820} + Sl

1 20N |/

s
2 D120 o1 22 =32
t

3 80| 2Itiet &1

4 AKAQ| 0H0HLI, EHEAI2I0H

. 84

85
86

. 88



Reader’s

Bank
BEIEy Key Structures @2 =s)

o U2ATA+ HEAL e Itis ~:H[QIY Z
* get / become + H8At [t is ~ + toH AL ... 7[R0

* have(had) to + SAIYH
don’t(didn’t) have to + SAIYH
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will
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N
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9 * Before + 30| + SA}
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give[bring] someone something
send someone something

. 2 EA
Because + 0] + &4t * make + 230 + B84}
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Y | am a dark shape. | always follow you. | do everything|you do}
‘ ﬂ
When you walk, | walk. When you run, | run. But | don’t make
~& Ii(ZEAD oftrfet A2|5% L] gt

any noise. My presence depends on the weather. When it is s

~oll 2 Uk
sunny, | show up. But when it is cloudy, | disappear. What am 1?

GED L= 22 2Y0|Ch e g GAlE mEftiHeh L
gilo| st 2E R Btk gilo] 2=
ol & o, L= ':E*E_'Ef. SHAI2E L= o ._1
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dark 42 &2 shape [feip] 2%, &l follow MECH M2t everything ZE A, 2 &
noise &2 presence EX dependon ~0l 22 ATt show up LIEHLICH disappear AREX|CH

When it is sunny: 8122 O (it “LW'S LIEfLE HIQIE F0{g)
When it is cloudy: 32 M (it2 "ZM'E LIEtLEE= HIQIE oY)
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It is not easy to get up in the morning. An inventor in England
S

solved the problem. He made an amazing bed, the “Bed

\')
Shaker.” It wakes you up without any trouble. When it is time to s
= The bed
get up, the bed starts to shake. The bed keeps shaking until
AN BSETE  ~F HIRIEAA
the person gets out of bed

] si2etiZio SoiZ U= U2 W27
@ goes to bed ©@ makes the bed =izl ==sirt
@ stops the clock v @ gets out of bed

(® answers the phone #t= i

L 1LINN €1

P LIS ool %= TS 220IM 30F MMIR. shake (20 A=)

move suddenly from side to side or up and down

2x7| ZFLE PlofeE 2xlojct

OFElof| LofLt= 2 &X| edch
=9| St dHIk= 1 [
‘Bed Shaker'2l= =22 ZlC
IR ofziz glo] YAIE ThRCt dofd
AlZto] =|H, Ech= E52(7| Al&fsict &
= 1 AREO| RcHolA LIS tH7ER| Al
SN S=2Ict

inventor 237t  solve the problem =ZAE siZslCt  amazing =22  wake up ZHRLH
without any trouble 0212 €10l shake =5zICt keep -ing ZAI&SHA ~8ITH  until ~& W7EX|

It is not easy to get up: YO{LE7| EX| YT (It 71304, to get up OISH= ZIF0{2)
When it is time to get up: 2101k AIZF! 0 (it B2V FOOIT, to get up timeS 2A1E)
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Sometimes you need a bike. But it is expensive to buy one.
= a bike
What do you do then? You can borrow a bike from others! This
= other people
is called the “sharing economy.” In the sharing economy, you s
28 7

borrow things instead of buying them. You can even borrow

L ~ahe oidlo— o]
cars and houses. This way, you can save money. It is good for
EREEN ~0f RUBICH

the environment, too.

] sharing economyoil thst H¥oz E21 227
Sharing Economy -
@8 zH) , }
Sos ASE’ 20l O E4E £ ol&7 g7 ARg3iTt
K EROEOI W Ly @) Zhul B A A 4 Sk
- R)ets’ M2e SEfol :
D oasEses an i (@) ol A o] §% 4 Ylrk
r A, Mg E®0t o '
= Letm s aas £& Hokst 5= 9Ir}
- TR Ho= M sy
> Sl QIck O Waks B 4L 23538 4= 9ot
ADEEZ0 22 (T717]
9| 211} social network
o| thmstz Qlsh ARAL
EIREIPNE=o I TS 5
DEESIERT O Lk 2t ojnjofl R THOIE 220N HO0F ML,
7HsaiCt,

1) not cheap: costing a lot of money:  expensive (120] A2)

(

(2) spend less or do not waste: save (530l Al2)
1) XMEaIX| ¥ HIE0| Lol E=

2) 2 AESHAL GHISER] STt

(
(

=2

ojutg YA XPHAH7L BRSICE BHX|
AHHE A= A2 HIMCE O @2 oE7| st
=717 G2 OE AEEE28EH RIEHE 42
QUCH 0|42 BF A2t S2ict 37 FHoIN
A2 SUSS A= oiblof 22IctH g2 MX|
Of XpSAHLt 2= 2E 4 Qlot 0] Aoz A2
=2 02 £ UL}, OA2 2ol Fsict

ro

expensive H¥ borrow ZZICt this is called 0|Z2 ~2t1 22t  sharing economy %%%3“
Ml save HsICt environment [invdisronment] &2 (£ 2. cost (HIE0]) ~ St waste ZHlsitH

you borrow things instead of buying them: G412 EZ5& At= tiAlo| I25S WaCH (instead of
-ing'= ‘st= ~sh= thilo2k= 2jo))
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Did you knothat camels save fat in their humps]? It is so hot
know°| EX-IO.l |:||°| _7'<_0.| <|_.le>
in the desert. Plants cannot grow there. For this reason, it is

= in the desert

difficult to find food in the desert. But the camels store up fatin s

their humps. They use the fat when they cannot find food.

E5E ) N%a*_[[ﬂ(’g-’—.'\-”) )
e LT Thanks to the fat, camels can live without eating food for a long
i : BRI R
DR time.
] 29 LE Il this reason0| 2jOjsh= RS P2ILUE ML,
- Al LR Ci9IM AIZ S0l 74710 Xk 4 eict,

&
P S22 S0l 27 CkS BiZtol €32 ToISS EE0M 3ot MM =
_|
The camels use the fat in their humps when they
can’t find food .

LIEISS Si0l2 WS 4 ¢S 1 DS B0 U XS AISSIC
IS LEfS0| IS0 Fol WS HIHCIE HE 6D U
5717 AlBOIAS OH Eick AIBSS IR0 RIE 4 gict, 0f21 0jR
ASiOlA] 2018 S 742 Ofgic), TeiLt YelSS 22tEel S0l AS
HISBICL OS2 20lE A2 4 9IS 1) XIS ARRSICH X1 S0
LIEISS QSO B0IS BiX| ghm A 4 Uct,

camel YEI save XZoichk &Lt fat X hump (HEFSC) = so UF  desert[dézort] A2t
store up (Lt50l A3410) HIESICE thanks to ~ S0

it is difficult to find food in the desert: Al2t0llA HOIS 2H= 2 KL (it2 71304, to find Ol5H=E
ZIZ=0{2)
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A It is not easy to learn a new word. So what can you do? You

should connect the new word with an old one[you already
]

know| For example, imagine Lhat you are going to learn the

v(zaz Imagine2| O

new word “tricycle.”] You know the word “bicycle” already. So if

you relate this new word to “bicycle,” it will be easier to

tricycle

understand the new word.

1 S20IM MEL SofS olsls WiHo R FHsHs 127

OEFTRCE
@ Fololor 3 et
® of2] Wl yhEalA AR,
v @ oln] ok Thoje} Azt At
SPLEEDEEEE REST

2 CI2 2|ojof| = CHOIE ER20|A 30} MAIR. connect[relate] (23t[58)0f AKZ)
join two or more things together

ME2 HoE 7= gX| LCh
:LE*EPD:' S FAS & 5 USI? G
2 Elo] oj0] Y1 U= OIF At M2
01§ HZslofF STt olE S0i, g4I0|
‘tricycle(M[ZXIEA)Ol2ts M2R2 1S
g Zolz2tm HasiEet, F4E olOf
blcycle(:t'*ﬂx‘l}l)olaf_ CHE 2 ok
T2hM 20| 0] AHER HHE “bicycle’of]
BARICHH, M2 HoE 0|0H3fE 20| Erct
/2 Zo|Ct,

connect A with B AS B2t A&t already 0l0l imagine 45t  tricycle [trdisekal] A%
A7 relate Ato B AE B2 2EAZICH (2 2. join HZESICH

connect the new word with an old one: A2 HHOIZ 0F2] Zi[HHo])t HZBIT} (one wordE =3
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B Do you want to remember someone’s name? You can

o Mt p.06

connect their name with their looks . For example, let’s

say that you meet a boynamed Teddy] He is big like a bear. You

~BtT SIRK7 ) ~Z2(TRIAL

can connect his name “Teddy” with “teddy bear.” You can also

iImagine the boy holding a teddy bear. Then it will be much

fimagine + 0 + SBA}L: ~7t -5k RS Ssict H(Hlug ZxE)

ZAE

easier to remember his name.

SHAIR =3710| 0|22 7|15t HEH=7}?
SHAI2 50| 0|22 159| P9 ¢Et X2 4
UL} OIZ S0{, THAI0| Teddy2H= 0|22 71 A
HS oHATET SEXL T B 3ch g 1
O] 0|2 ‘Teddy'Z ‘teddy bear(ZI&) 2} HEt XIS
2 QICH TS ST AE0| ZOIBS ST QU=
ZZ MArSH & Qirt J2{H 19| 0|22 7|dst=
Z40| EM A2 Zdoct,

remember 7[5ict
much <Hlug oA =M

named ~2t= 0|2 7%l

& clothes £, 2% looks

(® animals

hold
e, 22 pet OHASE

=L &t teddy bear =¢¥

let’s say that you meet: 042120| ZHATHD 71EsH 22Xt (let’s say that2 ‘~2t 7FYsH 2xte| ojn))

imagine the boy holding a teddy bear: 1 20| S9!

L LINN 4L
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Key Structures o

@) ltis~ >ireuEFoR 9w, AR, 29, PR SS ek

It was cloudy in the morning, bu’r n‘ is sunny now.

OOl BXOE XE Bick (W) oo

@ It is ~ toB™AL » - 3k= %2 ~o|c}

Mz HoE ii*s A= 2K °*Ef. H:° -»504 "to HRUFE 2IR0d2kn uug
olttH, FHAIS Z1Z0IGH THR.

* HIQIE 04
*It's spring(summer/ 1
fall/winter). (ZIZ)

LS 2 siAslal, F0{ 1to] LIEH= LSt HESIML.

*It's 2km from here (1) It is nine twenty now. X[Z2 9l 2020Ick,

to my school. (42
*It’s very dark in this 7]—%0-]
room., (Y

(2) It is fun to play soccer. ETE 5i= % MolRic,

(3) It is Linda’s birthday today. 25 Lindae| s20lct,

P LIS 220l 27 R0 HHoiS HI27 HHESHMIR.
) B2 3L HiEo] 2.

— Itis cold and windy outside.
(outside / is / cold and windy / it)

) A AFEE AHs AL u)go] wo] o}

- It is expensive to buy a new computer.

(to buy / it is / a new computer / expensive)
3) F2 AFE AHlE A2 F83IH

— It is important to make good friends.

(to make / important / itis / good friends)



Key Structures
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o XESAH
- havelhad] to + SAIRI
~5H0k SHCHRECH
- don’t[didn't] have to + SAI&IH

~2 2t QACHESIAH

* CHSAL do / did
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" The students are learning about world history. They are
looking at a big world map. The teacher says to Ella, “Where is
America? Can you find it on the map?” 3
Ella goes to the map. She says, “It's here.”
[z FE»! “Very good,” says the teacher. o
II;IEJi ¥ “Now Jack, who discovered America?” 6

Jack answers, “Ella did.”
ZAt| M7} 2}7{&(discovered)0 |22 didE &

Christopher Columbus
= (1451~ 1506')
ofm2|7 ChE| U7Xt

@O Tdid. @ Lincoln did. v ® Columbus did.
@ You did. ® It was on the map.

SHIS0| Mt CHaH BT QUch IS52 Aozt

MA XI=E B QUCt MEES ElaoliA| ZSict, “otH|z|7t

S22 ofC|ol| JAS7F? U7t XI=0M FS 4= UZAL?”

Ellas XI=2 7t = Yttt “od7[0l2.”

‘O ZRH0L." 2t MAE 0| St} |
‘Xt Jack, 7t OtH2|7} ChES SZAZK|?”
Jack2 CHEISICE “EllaZt $HOR.”

history %Al world map A7l XI= America OM[2|7t CHE discover ZZisiCt

Jack answers, “Ella did.”: Jack2 “EllaZl 0iL."2t1 CHEBICE (dide 2ol L2 discovered —

Americas g tHSAIY)
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ex) glasses(2t2), pants(HIX]), socks(&),

R
™SS

C}. J2iLt 1= 0] XIS shZsl| 93t
olck 2E HICl2 SsbiE ZACH %S 17+ si=
DE 242 =35It 0|12 ES MZlo|cH ofF| 1=

o7l 37| Yo 2E RS Fol2 Het itk 1
7} HIEIR S817|2 ZiCke 1= 20| ofciol Y=
x| | sH=c},

U X — . \W/
sneakers(2&2}), scissors(7+¢]), gloves(&Z)

Ricky forgets everything. He can’t find his cellphone. He can’t

find his glasses. But he has an idea to solve this problem. He
]

turns on a video recorder! It records everythinglhe does! Itisa s
r

good idea! Now he doesn’t have to look everywhere to find

S gH(2X)

something. If he turns on his video recorder, he quickly finds where itis .

N2 HIZho SoiZ L= U

ro

n2?

@ it will record nothing @ he will look everywhere

® he won't believe his eyes v @ he quickly finds where it is
® it makes him do everything

@ JA2 OIRAE =3f51X] 942 Zo|ct
@ 1= 2E 23 3ot = Ao|ct

@ I= Rl =2 K| g2 Aol
® %2 Ut 2E AS Sl=F 2hs Aot

L

CHE 220l SS22 S0{Z TS 220i|A ot XML,

(c&tofl ALE)
(1) I turn on the switch to start the machine.
(2) The girl turns on the TV to see the news.

(1) Lk= 3 71HIE 2S3h7| fls 291X 7L

(2) 3 Alls 7AE 27| 2fs TVE ZCh

icky= 2E A2 AOHRCEL J= 39 |
g 31'3 &= 19| oHEE 3g 4 g

T

S ©oF

forget ICt
OR =317|

cellphone FCiZst glasses [glesiz] 24 turn on ~& 7Tt video recorder H|
record [rik5xrd] =35t everywhere ZE X0l oClofiLt (&) 2. machine 7|7l

(4%) doesn’t have to look everywhere: 2€ Xg & ZR7t gitt (doesn’t have to= ‘~& 2R glckel 9f
0|2 F0{9| Q1o w2t don'tLt doesn't7t &)

14
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What is Steve Jobs’ favorite fruit? Apples, of course. When he
22 moE

began the company in 1976, he didn’t have a good name for it.

= the company

Jobs was worried. One day, he told his workers, “Think of a s

name by five o’clock. If you don’t, | will name the company

~IX|(7 18k LIEr) g ~2t1 0|§ At

Apple.” They didn’t come up with any name, so he did.

(OlOIC|O1E) AZFSHLHLY

] = he didet 22 2ot E=F OHS HIZIS MM,

Jobs named the company Apple .

Jobs= 11 S|AMS AppleO|2tal 0|2 XIRUCE.
P LIS fiZiol 2562 TS SIS0l ot MM

What fruit do you like best?

= Whatis your  favorite  fruit? (120l Ag)

AE|2 BAT} TbE gorort Y 2
T S2 AfZiolch 17t 1976¢01 SIS

4 Jmse o, 0= aze $|o+ £2 0|20 g

QU RAS 240] SIgiCh Ol 4 2= 19|
XIISO|A T 5 HZIIK| 0122 Azt
s BAIR. of2i2S0| 12 SHX| Yo, L7t
0| S|AIZ AppleO|2tL O|E XIS ZLICt” O
2 ofiH 0|2E MZIGHLIK| 23T, T2A 1
(22A) ick o

i

favorite 7t& Z0l5k=  begin ARSICH(-began-begun) company 2At name OIS; ~2t1 0[S Hct
worker sk= AR 22 think of ~& MZIBHLICH by ~7EKI come up with (OIOICIIE) AZ{GHLHCH

(18 ) Steve Jobs’ favorite fruit: AE|= TAO| 715 Z0lsh= 21 (-5’2 Bt HO{2| ARAR OlLAERT|()ZHEQ)
(48) name the company Apple: 2 SIME AppleO[2t OIE ATt (name A B: AZ B2ta 012 Al
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Luke had to move to a new school. He had to leave his
Hick
friends behind. He was worried about making new friends. But
tell + 2L2 + XL2.: ~0llA| -2tm Uit
his parents told him[that he didn’t have to worry, The next day
v 10 bopo. acked
he went to the new school. Luke was still scared. However, the

teacher was very kind,|and[the students were friendly and

Ls = sj0] ®0| ®&A} and2 HAZE

helpfull So he had no problem at the new school.

= didn’t have any problem

=0l LIEF LukeQ| AA HIZ 2ABE2 7127
@ worried — sad @ scared — worried
@ angry — excited v @ worried — happy

® happy — angry

Luke= M Sful2 Fst7of 3iict J= 29| &

=2 H7F2 mHUok ok 2= M22 TTE A
Tl= 2o chelf 2470l =L SHX|2H 19| FEEH2
J0AH A 2RIt ot 2CL tiEE, O= M
Stwofl Act Luke= OITS| F2{RICh SHXIZH Ml
= e TEHT, SHS2 Jdidsie =20| =2

J2iM 2= A SfwofA 0124=20] UALE

(L

move O|ZlsICh &7ICt  leave ~ behind ~2 E751 MU make friends ZE AFHCEH  still of
A, 04815| scared T2 however 2Lt friendly TIESL &&et  helpful =20| ==

Luke had to move to a new school.: Luke= M2 &fwz £790F #Ct (had to = have to2 2AF)
he didn’t have to worry: = Z8& ZIQ7} ¢!t (didn’t have to= don’t have to2 1)

¢ lINN €2
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A > wear S0l £ QIOIE TAIT, SHE) S0l 8 4 US
Today, many kids wear makeup. Is this okay? Some people
ahg sith

say yes. When kids wear makeup, @they feel better about

> F0{2} 2X0f7} SYE AL, BHOIZ MAHTAIS &

themselves. @They can show off the aﬂof@thelrface][they 3
likel. They can also hide the parts @E[hey don’t likel, so they
T ]

don’t have to worry about ®them.
= the parts they don’like

] SEAEEIO~OG I 7= NI HESILE? ©

2 IS 2lnjo = TS 2E0lM 3ot MMIR, hide (2o M)

do not show something to people: put it away

A7IE ARSI BoFX| 9d0h 2zis Ea| St

o5 B2 00IS0| S BTk 0[200] HHSTN? O MRS
JRICkn it 00IS0| B B 1f, 1S IS AP0 chsh of Bt
. I52 50| Bolet ¥l 922 X + 9k ISL £ a8
O EO5HA| 4= FEES A7 4 0N I5S IS0 s 25| 9

Of= =

wear makeup 3 siCt (wear &0t feel good about ~0f thall 2HESICH (betters goodEIHII'LEf)\
themselves [0omsélvz] 15 X! show off ~S XtsICt part 22 hide &7Ict

the parts of their face they like: 250| Z0l5t= XHIEQ| F22| 2E2E (of their face2t they likee
the partsE $Al5H &)
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B But some people thinkgihat kids should not wear makeup|
0 ~31] Zolof BTk
They thinkEhat makeup can cause skin problems]| Instead of
0

wearing makeup, kids should eat healthy food and exercise.
(should)

That way, they will be beautiful on the inside and outside.
. L2zt 2% (0FSat 22 ofa))

]_ Why do some people think that kids should not wear makeup?

Makeup can cause skin problems

=]

shye T 2AIS Yo 4 ok,

HO

|

P N2 LE & That way?| 2lo|E R2|L2 M2, (27H)
- 2Zol 2 24 7|, 2551
SHRIZE O AlS2 Ot
Zé f. OS2 =tdo| L2 2A|
= Sh= iAol ofolE2 Aol
O3 Aoz 758 L|HD} 9

cause ~2 Op7[stct, ~of @olo] =t skin problem I% 2x  exercise [éksorsaiz] 2SaiCt
that way J2A siM  the inside and outside LTI 2/ (HAlat X))

(38 kids should eat healthy food and (should) exercise: 0l0|E2 710l £2 &
Ch (shoulde “~afoF SICF2| ojn|o| ZEAIZ exercise A0l should7h M=o US)

3
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() havelhad] to +EAteI% > ~sof izt

Luke had to move to a new school

Lukes= A stw2 FstI1of Lt BOIiI CEA FizK: hos 'to P

Li= 201712 37| 93 BE 22 Stoke TRyt gt 30 B l:Lr¢ 24 doesn't hove to)

- She didn’t have to worry about maklng new friends.
Jlie M2 ZITE ARRIE 20l st ZEE TR7H 9T

QF) cisAtdo/did >l e SAtel v asp) st &

A: Who discovered America? 7t otzlst thee 2zisL]?
B: Ella did. (=Ella discovered America.) Ela7t 301,

‘x:jx\;ol_lig Chis iz does

o
A

S| 25 CloflM S22 LS =M.

l C
(1) You (have to / has to) be quiet in the library.

(2) Chris (don’t have to / doesn’t have to) take this class.
(3) A: Who said it?  B: Erica (does / did).

1) U= =EM0IM 283 8liof BiC}. (2) Chris= 0| == &S ER7L iCh (3) At =7t ZALI? B Erica?} 04,

P CiS 220l 27| 0T TS HiE7| HHESIML.
(1) Peter= AH419] 5 Fi1 wyof 3t

— Peter had to leave his friends behind
(behind/ leave his friends / had to)

) U 2 A0 dis) A4 287} gl

— You don’t have to worry about the problem

(worry about / the problem / don’t have to)
) W o35S W7t st AR o 43| it

— My sister works harder than | do
(I do / works / harder than)
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* one / ones = ~X3/~X4

* one ~, the other --

=
=

otLt= ~, CHE Gtk -

]

gl 52 W NN

Oigiol M=
St B 0] R

S5 1FHCl 0=
OHtitCl HEH

SHalo) g 2
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bring + Zt= + & .5 ~0f|A| - 7tXMCtFCt
" Serena has an ugly shirt, but it is a magic one. Why? It brings
= shirt
her good luck. When she wears it, her wishes come true. She
1.0. D.O. . I_ ) ) )
wears it when something important is going to happen. She

wears it on days|when she has a test and when she goes on

[=] 3" 5 m] /l\—‘ L ‘mPE LIEKHE BASAIZ days2 =T
. dateS]. LA~ Lhojls)

] %2 m=os ugte 727

O Magic Moment @ Taking a Test
v @ Lucky Shirt @ Going on Dates
® Lucky Day
2 20lIM AFSt something important2| GIE LEILUE MM, (27H)

Al 27|, Gio|Esh|

Serenac= 2&8U= M=t QX2 %2 OF
o| R(M=]o|ct, ef J#7}? a2 JHoIH 2=
JHEMCHECE O97F s |, JH9| A2 0]
F0JTICE s 2 Lol Mr2n o o aRS
=0t JH=E XHI0| AlRE 27Ut HIOIES St
=oll 2%S Y=Ch

[[E

I'|I'

ugly Fst 27| 42 magic 0fH4e| wish 4% come true (480|) O|20{X|Ct importarh
&2% happen (o)) 245t go on dates HIOIEE S () 1. moment =7t

it is a magic one: 2R2 OIHC| (MZ]OICE (one Aol LE2 shirt CHAI A1 CHHARR)
=0

|
when something important is going to happen: £23t Lol 2
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Olivia has two interesting pets. They are chickens. One is a

male or rooster, and the other is a female or hen. The rooster

Z, ChA| SHH(SH'S LiEt)
wakes  Olivia up in the morning. He makes a loud sound s

= The rooster

like an alarm clock. The hen lays eggs . Olivia eats them
Oks#0 AEES AlA| = the eggs
by for breakfast. Both the rooster and the hen are helpful pets.
. . A B
1[0+
W 2 F HIZH| 2SS 7|2 BXI0E H27?
(O wakes—pets v @ wakes —eggs
3 moves—eggs @ takes—milk
® picks —milk
3
D olvios= S Dl2le] S0122 OofgiSE0| Uk 2
IS HolCk Bt 4%, 5 450ln, o2 e
o7, = YSHOICt, 2512 0ol OliviaS ML 1
= XIPE Aot 22 ATIRIS ARIS WTE oSS
UZ =L, Olivias OFEAUIR IXES o=t 4
St 5t & O £20| = ofASS S0l

‘doOdle

\doO

male #% or = CHA| Z6tH  rooster #5 female ¥A hen 2% loud Almziz2 lay\
eggs 2= <Ct  for breakfast Of&AAl2 bothAand B A2tBSrCt

One is a male or rooster, and the other is a female or hen.: 3tLi= %, & £50|2, CI2 L=
A, & A0} (B & SHLIE 71212 U Stk one, CHE SiLEE the otherE &)
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Thrift stores sell many different kinds of clothes. These
Xt B0E Tp
clothes are the old ones[that people don’t wear anymorel The
- T | the clothes <+
clothes are very cheap, but the quality is good. That’s why they
370] ~&t olR0Ict
are very popular with poor people. Some people change the

E"’F”E! design of the thrift store clothes. This way, the old clothes turn

Ot T4 into the new ones.

= clothes

ThriftStore 1] SIZ0| LIE UR|SI=S L2 HOIE D2M2

(xw Z0E 77)

A HAHZE 2Esk= .

=1 22 sz oe (1) Thrift stores sell ( new / old ) clothes.

S22 79 wot W . :

ot ¢o|.o xw* E[ﬂ: (2) Thrift store clothes are very ( expensive / cheap ).

o j=YeoJ 3235 .
%lgjlgai;g; fHE; (3) Some people ( buy / change ) the looki of the thrift store
22 X3, IR =

N e
717 SR =2 mot

clothes.
(1) A BDF 7= EEHEI 22 TH{SICE
(2) Xt S0F 71| 2 i Ml
(3

A

) O ARMSE2 A S5 7P 22| 2US HREC

Store (@5 2P 2 ChS olnjol] 2t EH0{S 220A] 30} AMIR, quality (201 12
how good or bad something is

e 0F 7Pe W2 Te 5] %%
T 0] 222 AIRS0| o 01 K| g 2elE A=
OIC}. 11 RS2 i MKt FZO| EC, 17*0| ZL
RE[RE]0] 71ts ARSI 7] = 0IR0ICE of
H ARE2 AR 0E 7P 232| CXRIS HREEC
O Aoz QfE RS2 A A= HiFICH

ﬂ mjo

J—y

thrift store XM S0F 7HA| (thrift <, 42 different kinds of 021 372 clothes &, °
not ~ anymore O 0l ~2= quality (E712)) X, &8  be popular with ~0ilA Q17| UCk
turninto ~O0| EIC, ~22 5Tt

(28 ) the old ones that people don’t wear: AIZS0| x| Y= @eiE HE(RE) (onese ol L2

= HIS

clothesE g2)
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Luna doesn’t have any pets. “Can | have a dog, Daddy?”

= Luna has no pets.
Daddy says no. He says dogs bark too much. “Can | have a cat,
(that)
Daddy?” Daddy says no. He says cats meow too much. “All of s
(that)
my friends have pets. Can’t | have one?” “Okay,” Daddy says.

E.’i':”- E . . =_apet

; Luna is so excited. She cannot wait to have a pet. One day,
: - = very ~3tT 4l0f % ACich
[Eeizhar Daddy goes to the pet store. He buys a pet. It is a goldfish!

Ol OIS A 0|22 745t BEst 2427

@ It is small. @ It is cheap.
v @ It is quiet. @ Tt is colorful.

® It is popular.

Luna= OftH OHRASE = 7HX|2 QUX| STt “M7} 74 f of2|E 7+

& M% JlR, OHitt?” Oftih= of ElCtk ettt J= JHE2 US Bol He=

Clo 2reth, "Mzt 1ol gt 0i2|E 7HE 4= USVI, OHF?” Ofth= 2F

Hoin it 2= nY0IS2 |F 2ol (0FS st )—.—I:}Il_ 2ok Hl

TTES ZF OASS0| UL, J(1|7f SIS 7H 4= Gl Hole?” Y

ZC}.” 2t Otith= ZStCh Luna= EAI SELCE Jl= OIFSES 20 4

0f % A0 oith. ol= &, Olih= OH2tS= 710l ZICh O ofi2S=S At

Ch N2 Z80itH

— A

bark (H7D &Ct meow [midu] (0|7} Ok 8t 2t cannot wait to ~3t1 A0f 2 ZCict p(h
store OiAS= 7l goldfish 2801 (& quiet £E%F colorful A4MO|

Can’t | have one?: M7t SILIS 71& £ US7IR? (one A0l LI2 a petS LIEHH)

L€

€ 1INN
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A Scientists say that Mars and Earth are like cousins. Earth is
X7 (&4 th2xiz £)
bigger than Mars, but they are  similar  In many other
= Mars and Earth
ways. Once, Mars had air and water like Earth. Recently, U.S.

United States2| 2k}
scientists found something new. They found ice cliffs on Mars!
r ]

] =gl SoiZ U= A2 W27
@ different v @ similar ® interesting
@ helpful (® amazing

P2 IS 2injol = TS 220lM ot MMIR, (Th&) cousin (20l AiZ)

the son or daughter of an uncle or aunt

HE0ILt 029 OFS0|LE

(i

TISIRISS BTt X177t ARET} 20k 2SIt Xis BhY
o raﬂﬂr OS2 Be Ch2 SlolA BIASIC Sif B8 xiTet
Zo| oiz7let 20| URACE EZof 02| TS MR %S @
A,

JS2 oM 5 2HE gt

scientist IsiXt  Mars 3 be like ~2t & cousin A= in many other ways %2 EE\
HolM  once Mo|, O|F0| recently ZZol U.S. OI= (=United States) ice cliff g& &4
1. similar A HIXEt

Earth is bigger than Mars: X727t 3K4ECt & Act (biggere bigl HImZ)
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These ice cliffs are underground. The height of the cliffs is

S
various. A small one is shorter than 1 meter, but a big one is as

\

tall as 100 meters. This is good news for people. Scientists think

1000| E0|22 -sE 2¢

_they will be able to make oxygen by breaking down the ice. If they

(that) ~8t 4 QI 10|} (can2| Oj2H 2|a])

can have oxygen on Mars, Mars will be more like the Earth.

11&@ e,

0] 5 HHE2 Xlotoll QUCt HHEO| =0|= CiUsict =2
2 TmELCH RX[TE 2 Z2 100mIHE ALCt 0|HE AREWA £E2
AAOICE IEIXIER O50| O YSS Salisto] AAE TE £ UAS A
0l2ta Mzistch 250| stdol| AAS ZHA| EICHH, st B X722t
H|=3sHZ Z0|ct.

underground X[stol, X[st2  height [hait] =0|  various Cist
meter O[E(Zole] &t9l) astallas ~2Z 2 will be able to ~&
oxygen 4 break down &slfsiCt

ZM

Aok oS- Gl

A
o

P22™ Foil MI=SIMIL.

shorter than ~E2Ct &2

o]
PN

= Xo|ct

by -ing ~&<

Asmall one is ~, but a big one ...: &2 22 ~0|X|2t, 2 22 --0|Ct (one ice cliffE 7121Z)

€ lLINN €€
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Key Structures e

@) one/ones »~z/~zs

Serena has an ugly shirt, but it is a magic one.

Serena= BEQl= MR QIX|EH 2242 DY |7j[*15]0||3f Qo Lk gkt '%_*-’-‘-oa' we,
.one, i_,_ol = onesE Mm,

@one ~. the other ... »3ite~, 12 shfe -

One is a rooster, and the other is a hen.

BiLI= 450017, CIZ 3iLi= 2stolct, SUE R ShMe one, CHE SRS
o the otheri BYHE,

] S 22l Es oM 22 LS n2MR.

(1) A: Do you want to have a sandwich?
B: No, thanks. I already had (one / ones) for lunch.

(2) Tom had a red apple and two green (one / ones).

(3) T have two cats. One is black and (other / the other) is white.
(1) A: = MEIXE HI| #st?
B: OfL|, 10}y, Ao =Z 0|0 OIS HIUO.
(2) TomS 87k Afat SLEQL Izt 24 &= JHE HRiC
(3) LH= = ofg|e| mo|7t ULk Ste ZeAH0| 1 CH2 b= SlAo|ct

P LIS 220l 27 R0 HHoiS HI27 HHESHMIR.
(1) 1 g/e 92 EA2E A 222 5 Qi

— The man turned an old T-shirt into a new one

(into a new one / turned / an old T-shirt)
(2) Ling w7k &Au) A £o0]<t 31k Au] T 0| Akt

— Lin bought three red roses and two white ones

(two white ones / bought / and / three red roses)

(3) Sam F 7] 7P Atr}, Shbe shebdo] 1 thE shibs AL Mol

— Sam bought two bags. One is blue and the other is black.
(black / is / one / and the other / blue / is)
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" Laura gets ten dollars a week from her parents. ( @ ) But she

UZAniCH= per week)

needs more money. She wants to buy her favorite things. (® )

She asks her parents for a bigger allowance. They say no. (®) s
L ~oll7 -2 @asict = pocket money

What can she do to change their minds? She washes their cars.
Elﬁ"lil (@) She does the dishes. ('/(5) ) Her parents decide to raise her

Ot allowance. From now on, she will get fifteen dollars a week.

] Ck2 2Zo| Soi717|oll 7He HEst 227

This plan works!

2 CkS 2|O0j0]] St= TS 220i|A Z0F MM, allowance (33t0] AL2)

It is money. Your parents give it to you every week or month.

J22 =0l gle] RRER i = Ui aZds oA Zct.

Lauras 49| ErHo=H2E Ax2lof| 10
‘:*315 gh=Ct 2Lt J4e 50| E| “'OEHZP miE|
= XRAIO| E0fst= AES Al st Q4= 2
E"'”ﬂ O E2 8=2 st :LEO ot Ectn 2
Sith = 359 0k2S HH7| i £s &
2 SN Jd= 352 A Heth JE=E AKX
fCh o] A2l Euk2 UCH 4o 22E2 1l
=2 2oF7|2 Aot O[MRE = g
ol 15g2E & Aolct,

OI;O [‘0\

ask A for B AollZl BE Q&sICt  allowance &= change one’s mind ~2| 4zi2 Tt do
the dishes A7{x[5iCt raise (7tZ#S) 22t from now on XIZHH (& 1. work a7t UCt

(4% ) What can she do to change their minds?: 2= J5°] 0SS HIFLY| SIshM 23RS & 2 JUSTI? (to
changes RA 88O 2 ‘=S LIEH)
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get + p.p.: ~otA| ECt
oy <1

ex) get lost(Z2 2ICt), get drowned (0] tHX|CH, get dressed (22 &
My mom was not happy with my dad, so my parents got
N
divorced last year. Dad left us, and | lived alone with my mom.
EIET]

Dad said, “I love you, Elena,” but | was very sad to leave my dad.

But, now, I'm excited! Tomorrow my mom is marrying Mr.
IS Djshs BREIHEHOE 2 4 S
Fisher. That means my family and Mr. Fisher’s family are getting

of 2T THE WS (fhay)

ks married, too. Our two families will become one BIG Family!

] 22| ui8ut LRISHH T, LXISIX| R22H Foll HITsMIL.

(1) After her dad died, Elena lived with her mom. v
(2) Mr. Fisher is marrying Elena’s mom tomorrow. v
(3) Elena is worried about her mom’s wedding, v

(1) Elena2] Ot SOP7HA £, L= AHAIo| Ot AU,
(2) Fisher OtMl= LHY Elenal| HOtet ZESICY,
(3) Elena= H0te| Z=A0f| chsh Zstct.

P LIS HiZhof 2562 TS 220N 3ot MM,

The husband and his wife were not happy with each other, so

they got divorced . (jaiiof ALR)

L 19| L7} A S5 20k 1SS olE Lt

EED <2 ot= 22| ottt S=stK| ¢f
OlM, 22| 222 =hH0f| 0|=5HCt ottt
= 2= mEtn, L dotet £2 AR
OMitt= “Lb= 42 ARMSICICE Elena.2ia
ULSHERITE Li= OMHHE wLiok sHA LS
SHCL SIXIZH O[X| Li= Alo] HoH L <
2| HoH= Fisher OFXM|Qt ZESHAICH O
2 22| 71E1} Fisher OtMMQ] 71BE ZE
sith= Zig Qlo[$ict 22| F 7152 ShLte)

CH7t50[ & ZolcH

get divorced OI=sitt leave MLUITH(-left-left) marry ~2t Z=siCt(=get married to) mean 2
oleict (2 1. be worried about ~0f Cha ZP&sict  wedding ZE(A)

| was very sad to leave my dad: LH= OHHHE LI DHR SECE (to leaveE very sad2l ‘RIS LIERH)

LE

7 LINN
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o HE p.18 ,
Mr. Green wanted to lose weight, so he went on a diet. But
— gain weight CHO|oIESICt
when he was hungry, he ate pie, cake, and ice cream.[He

would forget he was on a dietl So he bought a “talking”
~BH2 FCH (2ol &) ClolofE Soict |

refrigerator to avoid this problem. When Mr. Green opened it,

E"’F”E! the refrigerator said, “Don’t eat. You'll get fatter.” Now he
; get + H|wa: BH O ~sHX|Ct
O doesn’t forget. Now he doesn’t eat so much.

W7 By using a “talking” refrigerator, Mr. Green is going to lose weight .

O will have difficulty in his diet x1o| cojoi0] ofz22 22 7ot

@ will eat fresh food every day oje cixist 2412 i 20/}

® won’t be hungry anymore ©f 04 sumx| 242 Zo|ct

@ will avoid going on a diet riojol= si= z w2 Zio|ct
v ® is going to lose weight

Green M= MES 0|1 A0{AM
= CIO|EE it J2{Lt a7 sz o

£ [, 2= Ofo|, #|o|=, 2|1 ofo|A=
=4

S HUCL J= XHAO| T E o)zt
= AE dofHz|= Foh TJ2iM = 0]
=HE mlet7| el 2

Cf. Green M7} S EH, W= &
it “HX| oL, Zh2 O SSeiE A
ol2.” olMl I= Hdoit2|X| =Lt OlX| -
J= HF ol HX| =Lt

S [E=y—

=L =
5= dYTIE A

lose weight AZE2 0|t go on a diet ClO|O{EsCE  would ~sk2 Ct  talking “E%f;
refrigerator [rifridzoreitor] A&7 avoid UCH WX[SICE get fatter ©f EESHXIC (2 difficulty o2

he bought a “talking” refrigerator to avoid this problem: 1= 0| XIS 97| 2fs ‘Usts" A& D

=0

M

MCh (talking2 refrigeratorg #4151, to avoide FAE 89| ‘S&'S LIEHH)

o H—i



o FE p.19 )

Ella and Mila are a good match for each other. Ella loves
RETH]
talking, but Mila loves listening. Ella is good at reading while

Mila is good at writing. Ella can sing well, but Mila can dance s

well. That’s why Ella and Mila are always happy to be together.

« &AL while2] 2|o]
The walls are green while the door is white, {~9! HHoi])
=2 SIAO1 HiHO|, HE2 ZEAMo|C},
_ While you are eating, you shouldn’t speak. {(~&k= Stofl)
=2 = 2l good match?| 2JOf=? =t si= Selol 2= s ef &k

O Az F2 34 A @ A= =9 oA
v AMZF S AT @ A= Folshz BA

® Az §Fe 7V Z oks Aol

Ella2t Mila= MZ Z 0j22]= ®H0|C}. Ella= 0[0F7|5H= 2
2 Z0i5HX[ZH Milas &= XS Z0f8iCh Milas SMIIE E S
M, Ellas 712 Z SiCh Ellas 22 & 22X2 M= E2 2 &

Ct 2240] Ella2t MilaZt Bi7A| RA0IA S4f =8t 01FO|Ct

-

i
r
6¢

7 LINN

4
match OIF & 0i22|= AIZH(A) be good at ~2 Z sitt while ~2l Hf Btste], ~Q1 HHo \

: Ella and Mila are always happy to be together: Ella2t Millas &7 L0IA &4t =31t (to be
togethere happy2l “®QI'S LIEKH)



¢13A3T 0%

o X219

A In 2001, the Japanese emperor Akihito surprised the world.
[émparor]
He said that his mother’s family came from Korea. As you
~ BAlo]cf
know, Baekje was an old Korean kingdom. In the 7th century, s
Tin the + A= + century.: ~A|7|0f|
Silla took Baekje’s land. After Baekje lost its land to Silla, some

of its royal family went away to Japan to find a new place to live.

= Baekje’s
Later they married into the Japanese royal family.
ol (~Zotnp) 291 2AS Wt

1 20IM 20| wx) YZol7 3 2= e 227
@ LAk AFA ®
® WAAF BFA @
v ® Aze 4ol B

O i olnjof 2= EHS 2R0IM S0t MM (2EH0]) royal family (20l A1)

a king, a queen or their children

2f 9_Hj| cC

o, ol =

rr

mESIPNEES

200101l Y22l T of7|
SIEE MIAIE 2% =2t ot
J= 19| 27| 71E0] gt=2 E410|
2ol 23U 22 HThAlD], &Y
M= gr=el o =0IRACt. 7A|
710l L2t HH|o] HES RIXISY
Ct. X7t A2tolAl 252l SESE
Wit7 | F, EES & UR=
M=Z0| & X= ot Y2z [
Rk =0 252 229 &
Z=3UC

Japanese 22| emperor [émporor] X Baekje UKl kingdom &= century A7
Silla A2t take AfXlolct land & lose Ato B AZS BO7ll UCHOZIEH  royal family &Z, &4

went away to Japan to find a new place to live: & M22 Rg 37| 2ish Y222 mWylCt (to finde
SAP 80| '2H'S Liet)
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EirE
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o &5t p.20

B

IE” OIHI'—

LHEOIM ZEIR0] 2110] S2l= HME THLE i

= Ziolct,

Korea and Japan have a lot in common. Their cultures and

E2 A2 3822 JIct — SSHo| Bt

languages are similar. If Akihito’s words are true, they share

— false

blood, too. This is a good start for a  friendship . Japan was

once the enemy of Korea. But now is the time to build new

ghiti= X2 ~& (259)) 7|3/o|ct

history. As the saying goes, the best victory is to turn an enemy

into a friend.

FZo| BiZho)| S0{Z L= ATE2 H2?

(O marriage v @ friendship @ family
@ job ® new idea

CHS iZhol| SS22 S01Z LS E20lM 2ot XML,

(1380f AFR)
(1) The twins have a lot in common
(2) Korea and China have a lot in common
(1) AS0|= SSF0| Lt
@) =2t 52 S0l it

W
v |

e
S

S S

Y2 BET0l e, 25e) 23
OB I3IE2] ol Ao
= aom ol FlMo| E
Huf

sk=2o| ®0|QICt &
H 22 IAE ME F32| 7|3l0|Ck

have ~ in common (EZ2) Z38X2& X|Ltt  culture 23t language [l€ngwids] 2101 share Lf\

Lt SFatct

blood I, @& start AMEZE E4E  enemy X build M<SCHL &0t 22ICt  as the

saying goes &£EOIM 25H<0| victory &2/ turn Ainto B AS BE HH'CE () 1. marriage Z=

(43 ) the time to build new history: M2& GAIE Mg 32| 713] (to builde A0l LE2 the timeS $4))

7 1INN LY
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Keg Structures

o M p.21

«"i\

@ towmAL >~ sl sistol <=

What can Laura do to chonge her parentg_”mlnds?
Luara= F2'HO| OlZS HHLI| 2l A=

eyl T toRUI=
rto+EA+°,_+vgJ__§ MLB. i

ok
1
3
i

(Y 2 ESA+1oRTAL >~ - 3 (B

UBAE
I was very sad fo leave my dad. -, SRS
L= Lto| OHHHE Lt D &L}, " surprised, excited
n\_\_o| olo.|_g_
ClS 28 SiMSIL, toR ™AL LIEtLE=E S-S 12MIS,

(1) Ron exercises every day to lose weight.

N Ron2 A2 7| IsHAl Y 252 Sict 24 (]9

(2) All of us were surprised to hear the news.

s3ict () &4 okl

— Q2| BEE 1 RAE

fin
ol

ChS 2220l XAl 0T TS Hi=A| HiESIMIR.
(1) Tede A& SH37] Al S48 A5

— Ted practiced hard to pass the exam

(to pass / practiced hard / the exam)
(2) Joe¢t Helen2 2] loiA g4 =3ttt

— Joe and Helen are always happy to be together

(to be together / always happy / are)
3) 199 uhg= BHY] S8 v FE shaly?

— What would you do to change her mind ?

(to change / her mind / would you do)



Hey Structures

« BAIE AloH= SIRHEAE

= T=0
- SIMBAHEBAE - SBAHBIEAR = ~5H0 U
« ((IDSAIE 2= LS5t= SAHS2AL
- find[seel + (CDZAF+SIRHEAL
~1F -3k U= U8 LHG6HCHEH

e

'8/

]

Tl B2 W N

=0tC Bisk= Liel &3l

2idigrel 2iAl, Jack Ma
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o Mt p.22

‘ You can find me shining in the night sky. Every day, | have a

different shape. But you cannot see me changing because |
"see + EX0] + -ing,: ~7t -5t U= XS EC}

change very slowly. My size depends on the particular day of s

the month. On the 15th day of every month, | am the biggest.
e

= Mg (~HI)E 2

o
ChpeplC] On the 28th day, | am the smallest. Whoam |7 zuzoi ~an2
: 2Hofl theE MM EBIE
O0: e 5 ex) the tallest boy

(17t 71 2 AH)

] 39| opx|t EEol chet U2 ES 2HESIMR.

I am the moon .

7 Ci2 2l0joi| Sf= THolE 220M 3ot MM, (FFEo= & 2) shine (120 41)

give out a bright light
(2) WS, LHC
l:H-O I:||O LHEl_

SHAIR L7} BHsOA HLtm Qi 2 A
+A~mtfme}LP’HE‘Eogl%EH.aNE
Li= 0§ TS| Haly| 2o g4l L7t Hstn

QU= 2 2 4 Qiot W Iyl 1 gol EXEH Hof

B UTH OiE 1590 L= 71 =0k 2820 Li=
7K ATk L St

shine 9Lt shape 2 el depend on ~0f 22 AUCt  particular [partikjolor] SXt

(L) @2.give out (¥2) Ut L3t bright e

N i

! (13 ) You can find me shining in the night sky.: ({222 L7} Haks0lA Yitn e S Uzig > Qlot
(BIRH2AL shining2 CHEAF meE 2Eat0] 4EE)



o Mt p.22 (\b%ﬂ

There are some dolphins in the water. (@ ) A new dolphin

Vv S
swims over and tries to hang out with them. (@ ) He swims,
AR MUK =, ZiLA) =some dolp‘h/ins S v,
acts and sounds like a dolphin, but he is no;k( ® ) He records
v, Y

3 (a dolphin)
the dolphins[moving in the water]for a televpision show. (@)

; Thanks to the robot, the TV audience can watch the dolphins
; ~ EE0
[=1ReThar more naturally. (® )

o

] 22| SEC= Hot kg 20| S0i717 (ol 7K HEet 227

He 1s actually a robot.

P L2 2= ¥ Theyoll sigsh= TS 2200A 30 MM, audience (e 12)

They watch or listen to a particular program on TV or the

radio.

T2 TVL 2ICIQ0fM She E4E Z2aUE Bl ==Ct

P =501 HE S2S0| ULk M22 =
izt S kM IS0 2 olEd =2
1 ottt O= SuaiME slgR|le, dSs,
22| X2 O= (S2eh7h) oo = A
2 2R0lCh J= TV A ZI2TUS 6 =
£0IM S0 A= SHUSES =3BlCt
2R G20, TVAIFAE2 22ES o X
A AEE 4 L

=T M

|

dolphin 12 swim over 3I%X 7ICHRCH  hang out with ~2t0t22] =t act #Ssich sound (4
2lE)LHCt record =3It audience AREAL MFEXF naturally XIGIAZA (&) 1. actually AXIZ AR

the dolphins moving in the water: 240IA 220|7 U= STHE (BMEAT moving ~ waterZt
FolM the dolphinsE A8

G 1lINN S%7
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o &gt p.23

3N, 22

A boy lived with his father in Tokyo. His father worked in an
airplane factory. The boy really loved airplanes. He played with
toy planes all the time. When he grew up, he became a movie

director. He made a lot of animated movies. But he never lost

|_H5|.|_H
ex) inventor(

2l), actor(Hi<

‘D|0kX}7 | Slok’ata B,
S12o| Miyazaki 2SS 7

@ ofo]

Miyajaki Hayao 1
(o|okx7| 5t0kR)

19413 =Z0|M E{O{LE
SIXW7EK| st &2 ot

oL =Eo=

o H|37| 22 ZAS @ =
S ofsixiel o
= s Bowo @ %"é—‘?‘—i =99

XI247] (20 10| ZH=of
MBI HIgls o
E25 HIES AT
M ApEeR she 2
SIS HALBH= ofLim(o]
Alj7:”9| 7«|K}O§ 7}_7.5 (g
SO 251 4 5 O
o 245I%Ct 10| thE
xfoze rojgfA T,
rwzinial of, 0|27 &
£2, HEpIZel LAt

7|J %O| %Ef. :Bdg 7=

gt AF0| =30 19| Ot X[t ARt
Ch 12| OMHX|= HIHY| SEoIM LMt 1
AE2 HIHZ|E 012 ASICE = oy EH
2 HIAZ|SS 7K1 SUCH 2= 2t Eat
4=0| EIO*EF Jd= B2 ofiumiold SatE2
HSAUCE. 2Lt = HIB7(0i| chet KRS of
Y= 23 K| AUt J2iM 29| FelEoll=
& ottt = HI&r1S0] RItt. 2 Z=0] 0]
|

tC
OFXt7| SlOFLH

5

TSAt+-or,: ;l = many
AiEtel =g's his love for airplanes. So there are often flying airplanes in his
7

ofiLcilo & 3t

g A

oh) sauor(if movies. That director is Hayao Miyazaki!
)

o2 0|22 £ = 0|S(first name)0| HA 211,
A(last name)0| Fo| LEZ RE|LZ M ui=

A MOSH= A0H29
= o189 oA

oo s=o oV @A *g ) w0 o717 7ie},
< 71tk = Al A 2,
B Yokt
® 9] "= Zhote Al W& & Zhe=t)

CI2 o|ojoj] SH= ColE E20A 30 MM

. factory (280l Al2)

It is a building. People make a lot of things here to sell them.

AS0|Ch ARS2 27| flsl 030I1M 2 SUSS RHECL

airplane H|&7|(=plane) factory % movie director Fsid=
Hat lose ULt 02| (-lost-lost)  love for ~o0fl CHEH AR

animated movie OHL|H|o|Md H3t Tts}

&) there are often flying airplanes
Foll L2 HAtairplaness $418)

in his movies: 12| Fzloll= £F ottt HIA7IS0] Ak (flying



Ol Al AHZF
20 o2

o HE p.24 é%)

A young couple came home from the theater one evening.
33 ol= o x4

When they came near the front door, they heard a man talking

"hear + X0 + -ing.: ~7} -3t Y= RS ECt

N in the dark living room. They were surprised! The husband
S

held his umbrella and walked toward the door carefully. He

v, v, s
opened the door suddenly and turned the lights on. Oh, it was
= the radio <7 A

the radio! He forgot to turn it off.

g TSAL| SX0{7t CHEAKIYY M, "SAH+ 2X0] + FALS|
0{z=0| & turn off it (x)

mjo

2= Xl a man talking in the dark living room22 5{5{%! %
2. (the) radio

2 B8} ol= Ko E.USOHH ’élio AL
ZL—OI gt Jprtololl 2 W, IS 2 7oA
i} & al-_i Qe %S S9irf, 1SS SHC Jme

N = = A

ML
0 ApAY 71| Zoz Aot =
i EE% it 2, azte et

couple 2%  front door & hear =Ct hold (&0 Mt  toward ~2 3%%04\
carefully Z&AZ7  turnon (F7IE) 7ict light &S  turn off (X7|5) nct

ron

HEX 2ot R

rr
o)
mjo

they heard a man talking in the dark living room: 252 ZZst HAollA
SAUCH (BRH2At talking0l HAF a mang E5st0 4Hg)

G 1lINN LY
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o HE p.25

A Jack Mais the richest man in China. ( @ ) He started Alibaba.

Hofein 23

(®) This is the biggest company[doing business on the
_ oy ] _
Internet in Chinal (® ) He grew up in a very poor family. (@) s

He failed the college entrance exam twice. (® ) Finally, he

=
'I'ul_-1

graduated from a teacher’s college, but he couldn’t get a job
ArEich

easily.

SiZo| 5202 Ho} Ckg 20| S0i717(0l| 7Hs Zizi5t

h

?

However, his life was not easy from the start.

XNSEE

Jack Ma= E=0IM 7HS Fwet
oot O= Le2HHbE ARACEL 01A
B0 QEUCR MUS sh= THE
S|AtO|Ct, T2iLt J2] 40| XSFE] +IRE

242 OMICE 1= SAl JHAR 7FEOIN A
ACE I st atAES = HolLt
OIFICE ORI I AjHS ZUEE

7 YrfalE x| 2t

rurjo >

start AZsick ARSI company &At  do business AEES siCh fail (ARol) 2HXICt  entrance
exam SiAE graduate from ~E Z5ICt teacher’s college ARHCH (At 24 Chsh)

the biggest company doing business on the Internet in China: £20IM QEY A2 AlHS dHe
7+eh 2 S|AL (BITH2AE doing ~ ChinaZt 2ol U= the biggest companys +A1&)



o Egt p.25

B In 1995, he traveled to the United States and happened to

use the Internet there for the first time. It was an amazing
2oz = To use the Internet
experience! He had a feeling that the Internet would change
~at= £ (thatZol THIAR! LHZO| LIZ)
the world. Soon, he decided to start an online company named
T ]

; Alibaba. As time went by, it grew to become the most popular
: 3101 ~0l EICE (to=TA Zk 8¢)
[ksichar store in China. Jack Ma started from the bottom. But through

S SaliM

hard work, he became the richest man in the country.

He 12N,

ro

] NE2o|Ui8ut URGI=F 2

(1) Jack believed the Internet would be (good / bad) for future
business.

(2) Alibaba became the (fastest / most popular) online company
in China.

(1) Jack2 QIE{SlI0] O[22 AtRoll £ Zdo02tar AL
(2) Z2|tHlE S20iM 7FS 217] = 2221 2|AE ZIAC

O kS olnjoll 2= SofS 2R0M S0} MM, bottom

the lowest part of something (sl At2)

OfiH 40| 713 e B

1995E0 O= 0=z KlS 7tM JR0M X522
SH5| QEHAZ AZHCEL a2 =22 Z=0IUCH = QIE
S0] Mi&E HEE Z0[2k= LS 2ACh & = Y2l
0IFS 71T 22fe! 2IAE HEs|z= 2ttt AlZio] 523
M a2 ST0IM JHE Q7| U= dEez M =R
Jack Ma= EHIHRE] AR SIX|2 =32 Salf 2= 1 U
2iollA 71 SR8t ALZ0| =IUct

travel Of&siCt happento %5l ~siCt  experience Z® have a feeling that ~2i= h’é!m
SCt  as time goes by AlZto] S50 2t from the bottom ZHIEHEE (bottom 2 02l (&)

it grew to become the most popular online store in China: 2% 4&56I0] S=201M 718 217] =
=22fel 4F0| ZIACH (grow toRHAE HE6H0 2= ~0] =)

G 1lINN 6%
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Y Structures o

m SR SAL + BAL / AL+ SRPSARL > ~BED Qs - (54D

There are often flying airplanes in his movies.
I
10| Fatsolls B3 Lolchis HI#7ISo| et

He records the dolphins [moving in the water].

2 O} TRHEARS ‘SAIRIg+ -ing ol sz

S401K S20|1 Y= STHS

mjo

=3}

rir
oo
L

@ find(see/hear] + (C) BAF + TXHEA}

> ~ot-5tn Qle RS EUSICH L/ ECH (25 2Y

We found the moon changing slowly.

2= 2ol MMs| Hotx UCh= RS LA

] 2= EES FASITIL BSshs HIHRATE Hot ML

(1) Look at the crying baby. - crying

(2) The boy swimming in the lake is Tim. — swimming in the lake

(3) I found someone talking in the kitchen.— talking in the kitchen
i

(1) &1 U= oI Btk
(2) E0lIM £Fck= 2E2 TimolCh,
(3) Ltz F=7 7t B0l Zats AE 23

s

s

ol
=
[m]

D i 22I0| 2| FOfF OIS HhA B,
(1) L Hlolth AARES vw 4},

— I’d like to see running kangaroos.

(kangaroos / I’d like to / running / see)
(2) o]3t2 222k AFY S 3h= 34t

- This is the company doing business online only.

(online only / doing business / this is the company)
(3) o2 WelkesollA Eee] Hue As 248 + ot

- You can find the stars shining in the night sky.

(the stars / you can find / in the night sky / shining)
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Key Structures

* as + S2AHEAH + os ~
* HWZ + than ~

gl £ W N

DA st
SA0| EHOILIZ S

QIHT SAF 2=Ct

]

AFH0] E0tok= A4

=-10| Lick, =&
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" There are large ice sheets near the North and South Poles.

= North Pole and South Pole
When pieces break off and float away, they become icebergs.
Hoix LIZICH
lcebergs can be as big as mountains. Most of the iceberg hides s

in the water. Usually, you only see the tip o f the |ceberg
ol

6= 2
1
N 0>

=

=
fofet 02 ofm
olHES sl Yy
QS S5l

2 MOIC

;@@FE Icebergs can be very dangerous for ships. L Z
, ;

U o
iHru

[

L
40 2 o2
Y
b 1
|'0|‘
[0

i

W7 Aol chst B@Fo= Sl T, S2|H Fofl M3SIML.

>

large piece of floating ice is called an iceberg. v

(1)
(2) You are able to see most of the iceberg. v

¢ 13N 2§

EED ==t = 20 740
AT mUfef2 o), IHES Whto] Sic, = 2
o iR S20| SEC. BE TAS Wite] 2ot BE Zi0[ch WA
Mol O SBIE A Uc

e T

large 2 ice sheet (BXIE E1 =) Y4 the North Pole 5= the South Pole &= break\
off £MXN ZOIXICt(break FMXICH  float away M 7HHZICH(float [flout] MCHLCH  iceberg @At
hide [haid] &Ct tip (WESHAQ) &

as big as mountains: A12t2 2 (as+&8AHas ~ ~2tE )
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Gloria is going to have a little brother soon. She is both happy

and sad. Sometimes, she wants a baby brother. She will have
2 EHO{t SM2 X[2IE 1l baby brother(sister) 2t StC.
someone to play with. She will have more fun. She will be less s

lonely. Other times, she does not want a baby brother. She

EE] 280] Sometimes0ll TS 3101 ‘I T2 W='S S8t ~Unt atsict
i wants all of her parents’ attention. She fears.her parents may
¥ (that) ~QUR|E BEC}
(=% love her baby brother more than her. (ofst 22)

W7 EHofet ES A0l ChEt Gloriaol AZtoR Fhat Mt 227

7% ofel7} gleiuta 7ot
o] = ATzt AN 71w shet,
FAlolehd £ Aetn Az
% #o] F410] 9ct.
Jol 9J8A 271 A7) Hrt.

Y

2

9 1LINN €S

)
@
®
v®
® 3

l.n N,

Glorias = HHEA0] A2 20|t 11

= c‘HEoHIE ol &£T7|= SiCt O e

4= opy| YEMS it 1S 3 =

HT7h M2 Zi0ich s of MojLS 0|

O} S o 928 Zolch T2 m= Jus

0| HEAIS YI5HR| SHart T Boto] =
BAS RS it s Ul ;a-‘
TU4HICH 0] 0F| HEMS o Al
Sfaisic, /

both Aand B A2B ECt A=BZ have fun XHO|QAI=Ct attention [oténfon] 2N F= fear (~h)
HASICt may ~EX|= ZECHS £5)

(3% ) someone to play with: Z0| & AtZH(with7t BXIH S&)
less lonely: & QA2 (lonely2] ES HlwE, more lonelys O 222'9| ojn))
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T ° Y p.28 -g '
> anumber of= ‘B20[2k= RO 2 S5 FZFFICL

Mieel A
A1 AR, 22
e S22t Eol gl
= 0l ZHE oA i
= UASI EY glE s
golcH gil2 EYol Hes
X| 9dct G2 Bx] 20| E
Qi L2 YRS R
sk= 20IM AlESS 7|20
SHE EY S SEH2 E
o SHED 2N M2 22
FERICh Al O%2 BEY
SHO| AtEst= 22 10 Tl
Eft ArSSlTt

rr >
s
40 o E
oo

o 1

N

E|

Il
1l

o
—_ =

>~

AZS B A RS EIISH 20A 719 wAl|C,
=2 =
=

‘ ex) A number of people gather here every morning. &2 ARZS0]| OFEIOICt 07| 2OIC}, Ea
The number of people in the world is growing fast, but we
~o| 4 0| 2%t2| 0= The number(EH42)0|22 is7t A1l

don’t have enough land to grow food. How can we solve this

problem? Soil-free farming is the answer! You don’t need soil. s
EAIHANEZ
You only need water. You grow plants in water that contains
T ]

nutrients. Surprisingly, soil-free farming uses much less water

HIZE A4(EW)

than soil farming. In fact, it uses only 10% of water that soil s

ZACHEAS X Z)

farming uses.

||

=S Otoj|A] 22 S NENR,

ro

(1) Soil-free farming uses no (soil / water).

(2) Soil-free farming uses (more water / less water) than soil

farming.

o E(D
F= Z0fl Hish &M 2EMo2 AZS S50t A

answer

solve sHZsict soil-free farming E 8i0Isl=sAl soil EY -free ~0|(ER)g= farming %D

SiiE, MEf contain [kontéin] Z&SICt nutrient [njtitriont] AR surprisingly SE7=

(68 10

uses much less water than ~: ~2LCt M XS 23 ARSICH (lessE Little2| HIZS)

% of water that soil farming uses: £ it SEH0| AlB3h= 22| 10% (that2 ZAISEA
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A white flower says to a yellow flower, “I am more beautiful

than you.” Is the white flower right? No. A yellow flower is as

beautiful as a white flower. The color doesn’t make a
skt

difference. Flowers of all colors are equally beautiful. In the
OFR7EX| 2

same way, people of all colors are equally beautiful. They are

all lovely children of Mother Nature.

CHRRA

2|=0o| = o 7{o EER S| Lo L2t I ‘L=
] S22 FHZ 22 W27 2l 22 L2t 2ol “LE
St o ofSChel. 2t Zetct 8l 2
_ 0| 2717 OfL|Ct, =2t 2 5| =at
S =lfe} =g ie] ° = e
@ }\]-%E'.’C o]"ﬁ'r’]"i_' %’é‘ %O]—L]_-T;]— = oj2LiCh M2 Z=QSIK| ULt @
. = = AH77|'9| n=EO EE—'-}” Ol,EE_FEl.

= [e] = = = === =]
v Q@ 2E JAFTL FE5it =

ORTIXIE, BE MZo| ARIEE 5
@ 7N Fol| wpet AEsHe Mo thar), SOOI Ee e e

9| AfAZZ XHASO|C

10

7 LIS o2 27t Z=5 2R0M L2 HOIE ot M2

friend : friendly = love : lovely (630il AF2)

AL+ ly = HRAF

make a difference Z23iCt equally [ikweli] SS317, 35l in the same way
OFE7IXI2  lovely [1Avli] AtZA2{2  Mother Nature CHXIA (RISHS ofHLUof HIREH #3Y)

as beautiful as a white flower: & Z0t= 0}EL}I2 (£5 H|w)

3

9 1LINN SS
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o X2 p.30

A When it comes to soccer, no country in the world can
~oll 2t 3t
compare with Brazil. Brazil is a five-time winner of the World
~9f H|mEICHEEBICH _ -
Cup. They had great players like Pele and Ronaldo. Brazilians
Folz= BH=atm A
love soccer more than any other people in the world. Almost

E#WE! every kid in Brazil dreams of becoming a soccer player when

e . =7 N47FE B2 3

[elE-5ar they grow up.

Baizof tiet 4= S T, S2|H Foil M35,

(1) Becoming a soccer player is every kid’s dream. v

(2) No people in the world loves soccer more than v
Brazilians.

(1) &7 M7t Bl A2 2ZE 020[9] Bolch,

(2) M| oftH 2IZE Haps MHSECH F7E ¢ S0I6HK| =t

=510f| 26t St MIAIS] O L2tz =2t
slml 47} 9icf, HerEe HeTolAl 53 2
4 o} 2E2 Pele(@)2} Ronaldo(EES)2t 22 &

HJI aMJ¢§OI UL EHapE AlISS MAl2) Cr2
Ol DIZEICE ST ARSI t'arx'owwm:

ARBICE,
O{2I01E2 O=0| ARt M =+ M7t El=
=L

o> mA
o 39 EL

n

I

rulo T

when it comes to ~0f 28 8 compare with ~2t H|u=|c}, ~ofl =5t five-time CHA 5_194\
Brazilian =22 A2 almost 712 dream of -ing ~& AS BHCH grow up &ZESiCt

(4% ) more than any other people: CH2 O RIEEC (people MRIE| ££0| 0K RIE'S 2|n5lod T4

E=I=El))
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B The style of soccer in Brazil is unique. Players control the

ball with all parts of their body. For example, they play the ball

with their heel and make passes with their thigh or back. In s
IAE SiCt

addition, they play the game in a beautiful way, just like samba

dancers. For them, soccer is an art as well as a sport. Beauty

. . . . » make + SZF HAL
IS as Important as winniNg. Zojoixs S22 LiEts A SA make®t 87 X1 AQlct,
ol HAL 2H0f| EXSH HEALE 20 PH|ZQI SEIS LIEFH = ULt
ex) make a turn EC} / make a sharp turn 2722 SCt
make a move 2Z[0|Ct / make a sudden move ZiXI7| SZlo|ct

Hapx 70| SXOR G| Y2 27

D AR ThFet $918 AHg
@ S FBAE Aol 3L TR)E St
® H FE FE £ O B 2 4 9o
@ 47 ZAWA oFErheE 27

v ® SHT AL 7148 7P FAR,

9 1LINN LS

Bapel 571 AEUS SEs
Cf. M52 Ao BE 228 HiX|
1 32 Srfstct, oS Sof, 152 1
Se| fiExlz 23 Au 150 Y
Lt SO mAZ Sick AL 15
At 2849t Zo| olggAl 77|
BICL. IS0 U0IN ZE AR
o ot OfLj2t o&O7I Bict. of
chee s2R1E Eesic,

>

gu [ v rio

unique [juni:k] £58  control Z=Hsict  heel [hill] FIEX] make passes MASIC
thigh [0ai] &#X| back (AA 22) & in addition ZCH7L d=Cit  for them 2S04l as
well as ~ ~#CtotL|2t  beauty [bjiti] OIECHR

as important as winning: 2|2+ S5t
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mH[TE oles
themel 39

SAEA] + er

ex) higher, faster
cHRZ+EHIZ

2 Elh= Bof: ot

PNEUPN = R

Ml +er

ex) bigger, hotter
X2 +yE Bl

ctof: y — i2 x|

I +er

ex) happier,easier
+32E 0l&e| £oi:

ofl more 7t

ex) more beautiful,

more expensive

‘ey Structures

2

o M p.31

AHFA+as ~ > ~etg -

@) as+us

Icebergs can be as big as mountains. -

! T ANEAN el B ‘

UM Mote 5 4 Qlct e e e et |
- ' ‘eiz'ol Sohta, /
nTtot 1w =

2HsHA

asgt as Akololls

@U|ﬂ3+than~ b ~BCHE -3

| am more beautiful than you.. -
i et o Ofg e,

"/;tho‘n_ '~gChats
Loz 1 gl
Hlu_v'l""' CHAtO| szm

ChS 23| 25 OlojA LS U MR,

(1) Your eyes are as (big / bigger) as a cow’s eyes.
(2) This jacket is (warm / warmer) than my coat.

(3) Health is more important (as / than) anything.

) o] =2 Aol ot Irt

2) 0| KIS Lto| TEC} of mEEsict
(3) 122 ofH HBriT of ER5ICH

CHS 2220l XAl 0T TS Hi=A| HiESIMIR.
(1) 23S I-AY oFgHth

— The scene was as beautiful as a picture

(as beautiful / a picture / as)

2) Y3 Rmde Yt Azshs Ruth o U A,

— Your parents love you more than you think

(love you / you think / more than)

o] NEV|: 2 AEHT} ¢ H& B8 Algdi}

— This washing machine uses less water than others

(than others / less water / uses)



Hey Structures

* Every time + £ + SAF -~ ~ & [0
* Until + 20 + SAF - ~ Z TR
* While + £ + SAF - ~ & S0t

012301 2148t LA0ICH

R=0E FAlol= D20

an £ W N
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" Vincent van Gogh is a famous painter now. But he did not

make any money from painting while he was alive. Then how
Hossict
did he make a living? His younger brother Theo supported him.
7S SRIBICE [Biou]Z we
He loved poor Vincent and sent him money all his life. Theo

a0 Iy ot

died six months after Vincent died. He is buried next to him in

HIMET =2 X| 670 S0 [bérid] &2 g9
Auvers-sur-0Qise, France.
EY EPSERES
]_ Ht 1 S0 sl =2l Lot LX[SHH T, E2|H Foll M3sHMIL.

(1) He was popular while he was alive.
(2) He could get a job thanks to his brother.
(3) His brother died earlier than he did.

(1) T Ao} k= S0t 01717} URUCH,
(2) 2= 710 S S=0f FUS B 4 Uk
(3) 19| S 17+ 57| T FCH,

2 TS 2lojofl = HoiE 220lM RoF MMIR. support (20 A=)

v
v
v

¢13A37 09

give help to someone by giving them money or something

=O0[Lt OofH S Fe=M =710l =55 Fr

e HIME g 1S = Xg2 /88 271olch 2L a= avt
HORl=E Seholle D22 =2 HX| Z3UCh 2{H J= ofE
WA FRS7? 19| dSM Theo?t 25 FARUCL = 7182
HIMES A Jof Y St J0iA == 2RI Theo= B
MEZH =T o7 20l JUCEL 2= ZAAO| QH|Z 22 =0
M 19| Fofl EXIct,

famous [féimas] make money =2 8Lt make a living &AIE F27ICt  support —'?'—%“
; SiCt  poor E%5t send EUiCH-sent-sent) bury [béri] 2Ct  nextto ~ Fol 1. thanks
! to - =20l died earlier than he did 27H1S7h) &2 A=t HA =24t

;
while he was alive: 17} 20IQ/= S0t (while + £ + SAk ~7} ---5h= SO1)
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A

One day, Sarah happened to wear her blue sweater to

school. She had a hard test that day. Luckily, she did well on

A|°'Io =t xl[_l.

the test. Since then, she wears the same sweater every time s
she has a test. The sweater doesn’t affect her test. In fact, the

sweater has nothing to do with her test results. But she thinks
~Q} 20| gIC} (— has something to do with)
that it does. She believes the sweater is lucky :

LHSA} (= has something to do with her test results)

A2— e =X =2
@® warm @ beautiful v ® lucky
@ heavy ® cheap

L 1INN 19

ChS 2lojof| &= TS 220 X0t MM affect @atof Arg)

make changes in something or somebody

OffHl 24 = =TIlofA WIS BHSC

Ol & Sarahe= 2%' | mpet AQIHE 1 Stwofl Zich
J4= a2 o2 AlRdo] JUACEL 2 % A= J4= ARE =
Foh OmReE JHe Aléé.; % motch 22 AQEE Y=t

AQIEl= T A>o| SEE FX| =0t AMY, 1 A9
Bi= AR Zfet oFFE 217t SiCh SHXIZE JldE= AQYETEA|
ot 20| UACHD HZIBITt = T AQIET} RS 71AMCE
xl:l.l DI'—|:|.

[

-

X

happento <¢16] ~slitt  do well on the test Al
I

fXIEt  since ~O[2HZ, ~IiHEE affect ~Of

%
have nothing to do with ~ ~2t 22i0] gitt  result [rizAlt] Zat

every time she has a test: 17} AI&0| U2 mOtCH (every time + 3801 + SAk ~7} - & m{otch
she thinks that it does: U= A9JEI7F 2ZCHI(2F210] AUCHD) H2ISHTH (does= HBAIR 48)
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Polar bears live on sea ice. They mainly eat seals. They sit

and wait beside a hole in the ice until a seal comes out.
of0FM 7ICr2ICt

Unfortunately, the ice in the North Pole is melting because of s

global warming. If there is less ice, polar bears have to swim

OhFICN ~afoF Bict
Ty farther and farther to hunt seals. As a result, they get too tired
: Znxioz
DR and give up before they find seals.

Ir

W 2II0|AES EE S 9

21 0|RE?

:

[ N —

O They have to wait too long. 252 = 22 7|ciof sict
@ It’s too cold in the North Pole. =2 = &ct
v ® There is less ice. 2o =it

@ There are too many bears. 1= 22 20| /ct

¢13A3T 29

® There are not many seals. & 77t 2/ e/t

LB ====2 Hitt 22 fl0IM Aok aS2

F2 SHE Tob HEerh as52 SH7F UE Wt

X €32 7Y HolM iotA J|CHEict S¥sl=
- ATt 2 fz2o 252 €32 =1 Atk €3
0| of MojZICtH, SS552 S7HE Algdt| 2lal
A HE o 22| sIgA Z1ok Btk O Zat 252
=70 37| Hofl LT XI™MAM Z7[Bic

polar bear S=& mainly 2 seal HICHEH, 270 unfortunately =™s|= melt Elh
global warming %7+ 23t farther O 22| asaresult 1 Zd give up Z7[slct

until a seal comes out: E7H7t L& W7EX] (until +3:01 + Ak ~7} - & Wh77kX])
because of global warming: XI7t 243t i20fl (because of + BAt/ because +F0{ + SAl)
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Ann is my best friend. We hang out very often and have a lot
_ ofZaICt, AIZES B HLict
of fun. Every time | have problems, | can talk to her about them

= privately

= the problems

in private. She knows everything about me, but she doesn’t tell s

other people. In addition, she never judges me for anything. |

[Ersich
can just sit silently with her and still feﬂel comfortable.

LF'2t Ann2| 270l CHal 2% AHst 727

@ g A7 3 B
@ o] BE AL % e,
® 3ulo] 9 whrkh Hofipi Aot}
@ Uo7 o @ = 31 ghec

v ® 5 37 grow A= guHsit

Ann2 Lte| 7Kg it ZTiFto|ct 2]
= DHT X ol22| xHo|UA| =Ct. Lh7t
—Erﬂlﬂ AS moit, L= a2Sol tish 2
LHollAl AFHez ojopr (g &~ AT JH=
Lioll 2ol 2E XS LX|2 OU= CE

AS0IAE ZotX| d=0t Azt 2=
Z3 ol LORE LIS HITGIX| Lt

LK EHX| 49t 285 YOME okl
|_77| 2 OI|:_|..

hang out AlZ+2 &7 EUHCE in private APRSZ, =2 in addition AL E20|  judge H7HHI
sttt silently £83|, &AtZ  feel comfortable HHetsHA L77ICk (comfortable HEFSH

Every time | have problems: L7t 27t IS moOlCt (Every timeOl Z&HE Ho| Hx 2 Ho| Zoj

S0H,)Z2 72)

5%,

L 1INN €9



¢13AIT 79

o Xt p.35

A A mouse is hiding in a hole in the wall. He is afraid to come
SN ~ % Bict
out. Why? Every time he tries to come out, he hears a cat’s

meow in front of the hole. The mouse is waiting until the cat is

gone. A few minutes later, the mouse can’t hear the cat.

~o| A2|E ECt

] The mouse can’t go out because a cat 1s waiting outside
the hole.

10|17t 7 ol Z|ct2| 2 7| mhEof F= L 4 Gl

P LS 230 3822 S0{Z HolE 2R0l|M Jot 242

(1) Are you afraid of spiders? (2] At2)

(2) What’s inside the box? I'm afraid to open it.

(1) L= 7H0IZ A
(2) A%} Qloll= 20| USTN? LI= RAUM 222 2 SH0]

GEP B o7t EE FEol S0 Utk O= LiI|7F FEOL Y
7F? 27t L g wioict, = 7Y O*OHM 1ol 0F96PE ESS
==t Flz 107t 7iE m7ix| 7ick2| e Aok 2 & =0 F=

hide &t afraid RM¥st=  try to ~dtD ()5t meow [midu] (TY0[2)) Ok A D
front of ~ ~ 0l wait ZICi2ICt  afew EEO| (§) 2. spider 70|

(28 ) Every time he tries to come out: 27} Lt@e{1 & mjotct
(3&) until the cat is gone: 0|7t 7HHZ! TH7}X|
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B At that moment, the mouse hears the sound of another

mouse from outside the hole. Squeak! Squeak! The mouse

~9| BloZHH|

thinks, ‘The cat is gone. | can go outside now.” When he comes s

outside, however, the cat catches him. She brings the mouse

back to her babies. She says, “See, kids? Speaking a second
= VEERY)
language is really helpful. Next time you want to catch a s

mouse, do as | do.”
Li7} 3= 2

&
(=]
N
uLi
i
al
0
s
It
ro
N)

<
GEONONCONS

O &7t 7= 1Y Hfo2 2 E C2 3
o AB|E Er}, Wl WM F|= MZISH}
D07} ZHHZTLE LH= Ofx| LIzt 4 Qof!
JejLf vt BloE LIS of nol7t 12 &
ot ae O FE aEo] AISliA El7EY
2ct, aue wbtc) “ofsot Blak? M2 2f=of
2 5ls 712 MYz =20 St Ch2ol|
3150| F2 &1 HS mf, L7t k= 2 shat”

at that moment 1 =70 from outside ~ ~ BIQ22E squeak (F2f) B Az however\
J3iLt bring back E7tM2Ct  a second language 221201 (language [l&ngwids] 2104)

Next time you want to catch a mouse: CHSOH FIE T A2 M (next time +30{+SAk CHS0l| ~ & )
do as | do: LH7t &t= CHZ 32t (as + 30 + SAL ~7} --5H= CHR)

L 1INN S9
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%{99 Structures L

untilzt by & Ct '~
JHXI'2k= 2lojolX|
gt until2 ‘A&, by
= ‘@&'9 9|7t
ch.

+ We should finish
this by 5 p.m.

* | didn’t go to bed
until my dad got
home.

30 ]

@,
)
(

(@) Every time + Z0{ + At »~o| -2 ujoley

LH7} 2&7F A moCh Lh= Annit 0|07 [BiTh e

T/ ASArElD BHR aHAY

X W BE MbAb ZEEl
@YY Until+ 701+ SAb »wol gy RN

- Polar bears wait until a seal comes out.

SSBS2 27t LS iR 7|kl

@ While + 30| + SAt » ~0]| ---5l= QU

- Vincent didn’t make any money while he was dlive.

7} Aot = S9F Vincent= £ 5] HX| LRUCE

o0l XA 2= Chol|lM S22 TS D=Me.

(1) (While / If ) I was waiting for the bus, I listened to music.
(2) Let’s wait (next time / until) the rain stops.

(3) (Because / Every time) I meet him, I wear this red skirt.

) Li7F HAS 7ICkals Set, L= S2f= SUch

(1 = S,
(2) |7t HE W7EK| 7|k (XY,
(3) L= OE 2he mioict, o] 7t X0t =L

23S otofl FOIT! Et UTE2 HLEAE 0185610 FE6IMIR.
(1) 7k Aot §le &2t Vincent= & 3 9] 283 Z90th (he was alive)

— Vincent sold only one painting while he was alive

(2) 1 F7F Y& gi7tx], 1%ol= 71thd 4= §ith. (the mouse comes out)

— The cat can’t wait until the mouse comes out

(3) W7t &j&e uiet, ¥7F 24 (I go out)

— Every time | go out , 1t rains.
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Hey Structures

* QI2AF + S + SAt
SAS2H, HOA-] ~ &H=Al

* QI2AL + to AL
LA, CICIA-] ~ 27l

£ WO N

THOIOF, LH 2N of 2HLI?
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" Carol came back home from school. She saw a long line of

ants. She followed it. She wanted to know where it started. She

wanted to know what the ants were looking for. To her surprise, s
(U7 ===
the line ended up in her bedroom! What did they want in there?
Z= ~of ol=c}
: She looked at her bed. Oh, no! There were bits of cake on it.
E : = her bed

]  The ants wanted to eat the cake on Carol’s bed
P to one’s TEFAL one’sOll= £2720| ARBEIH, ZYS LEE FEBATL AZEL, 222
silAfet mi= AR BE2 siMSIX| o= XO| RIHARCE

ex) To my surprise, he won first place in the race, (L7} SZAIE, 2= 1 ZF0M & S2 it

89

7 L2 2% 0| 2= HIZHoj 252 HoIE 220M Jot M|, ool i)

¢ 13ATT

The dog went after Sue. = The dog  followed  Sue.

Carol2 StwoflA Tofl S0kt J4= 71 &2 7SS
ST Od= ORE WEich 2= I20] oTiolM AR
A=K L1 HRACEL 2= 3 JH0|S0| RS A1 U=A] 21
HACE AR, O E2 2= JH9| FAVIK| 0[0{K UUCH
JORS0| H7|0iM RS | 2 JdE el JiE 2
ACH 2, X2l 3 #loll= Al0|= =201 AUACK

‘< ~
-~ -
» - I, ~
PR
P R 5
s 5 -
- o o M 3'_ “é

ant 7ol  follow Mm2t7it  look for ~ ~2 ATt  to her surprise 247t &A= end up in}
Z= ~0ll O|2Ct  bits of 2fZtel, Z=59|

where it started: O{C|olM 2230] AREIRU=X] (where +Z=0 +SAk O{C|A] ~&X|)
what the ants were looking for: XS 1 7JHOIS0| 31 UAE=X| (what +F0 + SAE FAS ~EX)

i



o XEt p.37 /
In China, an interesting thing took place on a truck. The truck

= happened
was driving with many eggs in the back. The day was very hot,

2 97 ol 42 A

L= 22 —

so the eggs started to hatch. Soon there were cute little chicks s
EE
all over the truck. Some chicks even tried to climb out of the
7lof S2tet Lt
truck. But the driver did not know what was happening. He just

chicken (%)—chick
dog (i) —puppy
cat(T¥ol)—kitten
duck(22[) —duckling
cow(A)—calf

kept driving.

\

8 LINN 69

ST0IA ot E21 20lM KHD|U= LO| LofRiCh I
E2 W2 =223 Floll 2ln 2|1 JqACL 22 i HH
M EZS0| Faf517| ARRICE 2 E3 33301 A 702 8
Of2|S0| AUCE 0 Hol2IS2 &K ERI0IM 710 Li7 i
1 Jck SR 2= 22 20| LojUT A=K SHCEL I

= I 7% 2TE ek

take place (0] ojLict Lsict  hatch [hat] 23fsict cute 042 chick okl all over ~ ~g|\
R0l climb [klaim] (7|0)22Ct  keep -ing 7iZ ~5tCHkeep-kept-kept)

what was happening: £& 20| oLt QURE=X] (/A whatO| 0 HEtz &)
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o Mthp.38

A ] ex) the city of Seoul M A|
Sometlmes,Fnlmals are smarter than people. In 1975, many
SS9 of

dogs in the city of Haicheng, China, started barking suddenly.
RN
Others ran into the hills. They looked scared. People couldn’t

figure out why the dogs were acting in such an unusual way.

0%
Ofn

] S22l 2& %l acting in such an unusual way7} 7I2|71= 7He]

D7IXIZ DE[UZ MM|Q, ZA| 37|, elEioz Hof 7|

P Lk 2ojoll %= TolE 220lM JoF MM|Q. scared (0] Ag)

afraid that something bad might happen
LEE 0| LOILX|= S2t Faflst=

2 S2S5E2 ARISEHD o EE5iCh 197548, 29
HaichengO|2t= ZAIOIA B2 JHS0| AP | 27| A|ZIBHCE CHE Ths

S0l 2xi7| B, 2 elsjo= Hapzich 1SS HeS HHE BT ARISS S0l of
S717/50| Hof 921, 28] T2 Oltst Ao HSatm UM Y 4 YT

ot SE2 RS HolLt LAt
7| Ci2 X2 0|55k= S X
ol 27| R AR EE HEH
0|y WSS Hol= S==0|
ALk AlHE2 S0 X
TS ol=shke E4et d2ol
UACHD EZISHRgAct a2iLt X
Zlg S+tshs weikiE2 XX
0 2i= S==0| I3 ¢SS
SHA| Bi= 9= B7| W=
Xt SE52 eSS et
o=z Ay At oo Bt
Ch sHX|Zt OS2 X[TI0| 27|
Zoil X0l 2-dsk= olMfet
ZISO0|Lt Hxjmtel Hals =
0| HXE 7IsdE TEez
BHSIX = g

[ —

bark At others CI2 ZAE(H7IM= other dogsE 2I0l)  scared [skéard] 422 figure out %*(h
LHEt such 1218t unusual OIS E5tK| ¥ (—usual) ina~way ~8teiloz

X

rr

why the dogs were acting in such an unusual way: 2 7HS0| 227 o|&stAH #Sstn U



o M=t p.39 (\%})

’ B A few hours later, everything started to shake. The ground
was shaking. Houses and buildings began to fall over. An
earthquake was coming! Soon, the ground opened up. More s
buildings fell down. People don’t know when an earthquake

qli‘lﬁglil will happen, but animals do.
; ==

HSAIZ 22 (=know when an earthquake will happen)

W7 SIZ29 Y= Xl animals doZt ejojst= L2 Z 7R MAst W27

O NE& %A A 2 <t
@ Mol Ao =R E WA ot
Aglo] o & 2z et
v @ HES dA AFol A Qb
® ME2 B Sl A% S 5=t
% ARt S0| 2E 30| ES217| At Fo| BS2ln URck

t
SO0| M2{X|7] AIZRYCE X|TI0] 211 AUAUCH 2 Ho| ZatRict o S 71250
MO ARS2 AH| XI20] 2X| 22X|2 SSS2 2ttt

shake =52t ground %, Hi=t  fall over HOXICH M2{X|Ct  earthquake [SrrOkweik] XI’.‘_“

fall down 24Xt animal =

(4% ) when an earthquake will happen: 21| X|Zl0| SX|
(58 ) but animals do: IZXI2t SE52 it (o= HHEAMRAM Y| knowE 2lal)

8 LINN L&
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o X p.39

A Harry Potter has no parents. They were killed by wizards.
~ofl SlH AL (FSeH)

Harry lives with his aunt and uncle, but they are not kind to

him. Harry feels lonely. He hates his hometown. One day, an
BEEIEEN)
owl brings him a message. The message tells Harry what to
20174 HIAIXIE ZHHSCh

. do. It tells him to go to a school called Hogwarts. Harry goes to
iE : e —
Ot Hogwarts with hopes and dreams. He learns magic skills from

Dumbledore,ﬁa%aold teacher.
|

Harry Pottero0il Chsh t=22| L2 LX[SHH T, S2IH Foll XM|3SHMIL.

(1) His parents died of old age. v
(2) He was happy with his aunt and uncle. v

. ~ef Kozl e
(3) He is excited to go to Hogwarts. v
(1) 213 F26S =802 S0 Harry Potter(sfi2] ZE{j= 22Ho] 9ich 25 DhiAf
(2) 2= 12| 01} Ol 2ol DXL =0 ofpf ABHEIRIC, Harry= 19) 0|9} 0|20} AXIRE, 1
(3) 2= 2AAER T4 =lof Llatc. S2 0| ZVE5HR| YLk Harryis 91288 L7ICk, 2= 1]

1&k0| Aict ol =tHo| §t ol2|7t J0iA| HIAXIS 7t
Ot 2 HIAXIE HarryollAl 242 EX| shzct 2242 J0)7|
Hogwarts(S12E)2t 1 E2|= stwof 712t USiCt Harrys
S|yt S JHX|D HogwartsOfl ZiCh &= Lio| & MME
Dumbledore(EE=0)2FE OfH 7|&2 Hi2Ct

be killed by ~o0fl 2fsi &fsH=ICt  wizard OFHAL  hate #40{siCt  hometown

what to do: 22 x| (what + toE ™AL 2AHS ~&X|)

g owl —'?'—%*h _ -

ikl
20l message HAIXI magic OHdel  skill 7I& A2 (8 die of old age =E2Z =C}



o HEH p.40 /
B At Hogwarts, Dumbledore teaches Harry many skills. Harry

teach + Zh-5 + E-Z(~0f|7| -2 7I2X|CH
Potter learns how to do magic. He learns how to fight. When

-7 (Z7)
Harry Potter gets older and stronger, he fights with Lord s
BAICHZEAL
Voldemort. Harry realizes that Voldemort is an evil man who
i SR . e ]
; killed his parents. While he is fighting with Voldemort, Harry
OlE e+ gets badly hurt but gets well right away.
= seriously
Harry Potterdl| CHst MHo=2 gto™ T, S2|H Fol| MI3SHMIL.
(1) staof| A vhy el Wit e He vl v
(2) gstdA o= AsiAA drt. v
(3) AHile] FrE Asldt A= A E A= S S5, v

8 LINN €4

HogwartsOl Al Dumbledore= Harryolll 22 71&52 7122
ct Harry Potter= Of#g Hal= Bg IR0t 2= M= Ba iRt
Harry Potter7} H& o Lto|7} £ Z6HAE M, J= Voldemort(E=
2E) Zoll M M=RLCE Harry= VoldemortZt 10| BRES =01 otst
PE*Olﬂf_ Zg LA Elct HarryZt Voldemort2t MRE S0t 2=
MSHA| CEX|X[2E ZA| SIS 5T

do magic 02 2alct  fight with ~2t WRCH realize 7HECH evil [ival]l AltSt  get hurt C
A|ct  badly &5t 012  get well LIOHXICH right away ZAl HiZ

how to do magic: {EA| OH4S BEX| how to fight: | MEX|
an evil man who killed his parents: XH12| 225 01 Atelst Atgh (whoe ZAICHEALY)
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Y Structures e

@) 22+ R0+ A > FHOKEIN, 2RE-] VBN
- We didn’t know why the dogs were barking.

2= o JHS0| A1 U=X] LK ZRC

- She wanted to know where the ants started.

Jl4= ofC|AM JHO|S0| ELM=X] 20 HACH ,/'"rz_m + S4t 2l z_;m?\
S TMBRoliMgh Tokgl

@ O|2AL + tOS AL > AUA|[OfC|N, 2oHS--] ~EX|

- The owl’s message tells Harry what to do.

=910]2| BIAIXKS Haryol il 2948 81X| aft, o omamre
. ST o431 2 oHlQ
- Harry learns how to fight. J ot AT, S Toka

- SARF ZEHRIZ| ok
Harryiz OfEA WS HhC, N HEmsnes
‘BAr2k gl

(1) L= 2142 0[Z0] RHQIX| 0fL?
]_ C TEM|R. (@ Lol 2 717t 21K 22 oH=X| Lahiz,
(3) O] MM 22|07 OlC|A THX] L5HX| URULH,

(1) Do you know (what is her name / what her name is)?

k

el o

=

i
A

!
I

Qtof|l A U5

ro
fjo

(2) Tell me (when does the shop open / when the shop opens).

(3) Ms. Lee didn’t tell us (where to meet / where to meeting).

D CIS D20l WA FOI HOIE HIZA| SR,
(1) THE AviEo] Roig st A & Asist,

— She wanted to know what the ants were doing

(the ants / were doing / what)

(2) FE& AGA +Fok=A EXT

— We didn’t know how to swim

(swim / how / to)

(3) AFEE2 AIKo] A &4 ZEH.

— People don’t know when the earthquake will come

(will come / when / the earthquake)
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Donna wanted to give her husband a birthday present. She
wondered what to give him. Should she give him a watch?
Should she give him a sweater? Should she give him a new s
guitar? She asked her husband what he wanted. “I don’t want

IR E (QUZAL+ F0 + SAL)

anything at all. Your love is the best present,” he said.

] Gk HIZHl| 2562 HHolS SI20M Sot LML

Donna’s husband needs her love more than anything
CHE of HECH O

else.

7 L2 2% SS2= S0iZ TS 220iA 3ot MM

(1) My  watch keeps good time. (220} A/)
(2) Can you watch my bag for a second?
(1) LH AAl= AlZto] & S,

(2) FAILH 714 & 8 5 4 ULP?

Donna= 12| HHOIA MY MES Fu HACEL 2
L 207 fE EX| S23Uct J4E 207 AAE H
OF &771? Jld= J0iA| 2%IEE Hok 71?7 atd= ol
A ZIEFE Fot &7ty e vt FAE HokeAl gHoiA|
UL “Lh= T6 Hsh= 7 glole. gilel Ardo| ||
MZ0[0|R.7231 T7t LKL

present [prézont] 4& wonder 3zZlsttt  what to give him 207 £%S £X|  watch (—"._‘Ji.)klﬁl\
guitar 7|El not ~ atall F&{ ~Oft 2. keep good time A[Zt0| & STt

give her husband a birthday present: Jt49| HHoA MY MEES FCt (give someone
something: ~OilA| & FI)

[




o Mt p.42 (\b%ﬂ

A father sends his kid to bed.

[ Zxf2lol S stct ]
“Dad! Can you get me a glass of water?”
“No! Go to sleep.” 3

A minute later, the boy cries, “Dad! Can you get me a glass of

A2|X[CH

water?”

“No! Next time you ask, I'll come up there and s
ChSoll ~& of

spank you.”
“Dad! When you come up to spank me, can you

bring me a glass of water?” €ED oiixlt 19l 0l0IS Zxizio]
T S| ik o 2 B FaE TN 5

A

el XAE” 12 o a2 A2 A

1 2ol olsol thEt Mo bR mEE H2?

g

~ “Otefl CHS0) W7t 228, L7t #4712
22} 7HM Ul YOI TS Aok
@ oA TS & E=rt “OfHH] OfHi7} X LHOIS mh2l2| QA
_ ) o, 2 5t I3t 7pHCH FANR7]
© Zo| nlzx)gt U7} B3 ot ﬁ
v @ Zo] Yot B UF upAl L At}

@ o] AshH FARL Ex k.
® A7) Al G4 B2 vk,

P IS 2injofl %= TS 2E20IM 3ot XML, spank
(72401l AFE)

hit a child on the bottom to punish

—

g 7| 2lslf oto]2] oIS w2|ct

send ~ to bed ~E M<Ct Canyou ~? ~all #H2iR? get 7IXNCH FCt  a glass of ~
cry A2|X|ck 2Ct spank ~2 HHOIE M2ICt (E) 2. bottom YOl punish HsiCH

ro
e

o

get me a glass of water: Lof|7| & St 22 7kMCH L} (get someone something: ~0lI7A & 7tX
Ch Zcf)

6 1INN LL
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¢ 13ATT

> AEEA ES HEE T 3 EoIA CI2 HOR jof 5 3 BBt QOIAKS AAE 4 et
I2hA FOIOAKS S48 teamsE AISSID] 0[2{3t 24312 *As=4etn Bict

. - - o Mt p.43 \ a
ex. make friends TE ALt/ shake hands 24+5iCH / change seats XI2|E HFCH <

Football players care about their uniform numbers a lot.

~2 217 Mo}

Why? The numbers represent the players. Many players prefer

repeating numbers like 44. Why? They believe that repeating

o
~ 2

numbers bring them good luck. Sometimes football players

. -~ change teams. But they like to keep their original number.
: BS HHCHteams= Y2542 M) . .
Ok Why? They consider it bad luck if their number changes.

consider + 0+ 0.C.: ~2 -2t ®{7|CHBEA])

W ST MSS0) e K20 UKISH T, S2I Fol MR,

(1) They are not interested in uniform numbers. v
(2) They may love numbers like 77 or 99. v
(3) They want to use the same numbers even v

when they change teams.

(1) 252 FLIS HS0i| 2ol glch
(2) IS2 770|Lt 99 2 HSE 0t .
(3) OS2 EE HIE W Xt 22 HSE ALZol 1S HEiTh

=7 S22 029 FUS B0l tish i1 MBS 20k A

S : RS2 442 20| HEEl= =
SIC}. SHE7f? OS2 Hi=kl= RXKS0| aS0iA e=2E 7Y
ZECE iz =7 MeS2 BE HRECL sHXIZ 2S2 a8
SE FAlot 0] BICh AL? OS2 aS0| HE T} HEH

o rr
rx
]
]
mjo
T
m
=
AN
inl
62
rlo
>

uniform number {UZ0| 226k= M4 #S (back number= E2! #3) represent LIELCE EHE'\
Sict  prefer ASsiCh O EO05ICH  repeating Pt=E=l= original =212 consider ZisiCt Zt=siCt

bring them good luck: ZE0lI7| &=2S 7FACE =Lt (bring someone something: ~O0iIA| & 7k&CH
o)



o TE pbb )

Do you know why we put candles on birthday cakes? A long
Zoiee

time ago, people believed [that the smoke from the candles
S

carried wishes to God in heaven| So people needed to make a s
\'

lot of smoke to bring their wishes to God easily. What did the

people do to send Him more smoke? They blew out all of the
God2 XI5t LHBALR THEXIE H7I3!

candles on the cake at the same time.

.l

W=2| LiE0il 7l S thels 2+EsthIL.

A Why did people blow out candles on birthday cakes at the

same time?

B They wanted to make more smoke
A NS off M2 (0|3 9I2] X2 SAlof 201N
SHAI2 3|7} of M Ho|F0| X2 =X ne?
ol=717 o2 Hof, AlRISS Z0IM Lios ¢yt B OSSO RE WISUSTIE BRI,
32l Ao ALSS LIZCHD IQICE e At 4. 1
2SS 50| AU Mol S FLs| ik ‘

812 o2 Ots Tyt UK ARSS Ao o g
B o7|2 27| 6N 2Re B 15
ol o] BE XSS SAl0l Z0iA ZCL® b y. Nl
Y
>

L * o

candle ¥= smoke ¢7] wish 4% HZ God 4 heaven [hévon] F=Z 5k= Him CHEXt
2 Mg xEGE tgAlz A2l blow =CH(-blew-blown) blow out 20{M 11Ct  at the same
’ time SAlof

send Him more smoke: 12017 Cf B2 H7IZ LT (send someone something: ~0ilA| & ELHCH

6 1INN 64
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A Ants have helpful little friends. They are insects called
r o T

aphids. Aphids take in sweet juice from host plants. So their

HFIStct (14 SAE9) =5

bodies are always full of sweet juice. Ants know this, so they go

to the aphids to get some juice. Aphids kindly give the hungry

. *aphid: XIGI2
ants some juice. (Gificl]

%J=E"9-| 2=zl th|S7|' o|o|sk= LHoE 222 MN|R.

FIRE0| Bo| YFt FO& ISl

o

=

Ho|lE2 OIZi% %*OW :LZS ;‘2 ‘.’:*7| $—I
ACi=e

helpful =20| == insect [insekt] =5 called ~ ~2t1 E2/= take in &FGICH  juice &  host
plant &5 AlE (25507 20[2t TS MBsok= A=) be fullof ~22 715 XHACH kindly &S|

give the hungry ants some juice: HHE JHO|S0lA| 2Zte| ES Frt




b

rkJ

39

(o

B Ants don’t forget the aphids’ kindness. They give the aphids
aphid2| 42| AR/A

something in return. For example, if aphids drink all of the

juiceina hostﬂp?;%t, ants carry them to a new plant. If animals

come near aphids, ants protect= ihﬁ;:'md.sm winter, the ants care
EI#”E{ for the aphids’ eggs until they hatch in spring. This way, ants
[Edihar and aphids depend on each other to survive.

MZES17| SIh(E=

Jin|et ZI=e| S BAIE 2ES= 2ES HEGSIH 2HISMIL.

(1) Ants get juice from big animals.
can find a new plant from the aphids.

(2) Aphids protect these insects thanks to the ants.

care for the aphids’ eges *——— until they hatch.

=0t OS2 BHeZ TRES0iA £
7tE EL. oIE S0, ZHES0| et =F A=0iM &5 of oRICHH, JHolS2 O
== M22 AlE= S0k 30| LIRS XM= 203, Ji0lE2 258 B
2ITh 7A=0 JH0IS2 S0 €S0| Faie m7iX| ZR=9| Y52 S4En 0/
A HOIST} ZIRES2 WESH| 2le MZ0iA| 2AEBHTt

kindness ZIE& in return EE2Z carry S7ICt  protect E35ICH
hatch 235iCt  this way OI27A depend on ~ ~0f SIESICt  survive YZEsICH AOFHLTH

give the aphids something: ZIRES0H 2A7IE FCt

3
L s= WA \W/
0

6 1INN 18
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Ke‘;l Structures o

@ givelbring, get] + someone + something
> ~Of|A -2 (7FXC) R

- She will give him a watch for his birthday.

JuE a9 4 ME=2 a7 £=AAE £ Aol

- Bring me a glass of water, Dod o e

XojlA £ 3t 2t 7HCH AR, Ottt LiSol oz
LFOiI'Hli vH/\"vH.Q_(A

@ send + someone + something > ~oji| -2 2uic

- People wanted to send God more smoke.

AIS2 HolA & B2 SIS 2D HRACK

] CHS 2l 2 32 s,

1) oA HAE By} send us a letter
2) YA & =+ give me some flowers
3) Judy°lAl &= 7FAth Fo} bringlget] Judy books

P LIS 220l 27| R0l EHolS HI27| HHESHMILR.
) U ZoA 225 Hyo,

— | sent him a package.

(him / a package / sent / )
2) AQA HEE F 7HA o FAHK?

- Can you bring me some butter?

(some butter / can you / bring / me)

(3) Sarahe ZH19] JFofA dEE F3 A

— Sarah wanted to give her friend a present.

(Sarah wanted to / a present / her friend / give)



Hey Structures )[ ﬂ

+ make + S0} + BSA
 help + 22101 + SKiIS!

§

~g ~5HH BISCt

~1tF -5t Hg st

o
[0
re

A
=

rir

1 E0NEs
2 DI=201MH 012 2212 =22
3 SOl ICHEt S0t
4

Ar9| 0HLI, EiEIIo
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o ME p. 47

| am a light and strong material. So people make bottles and

boxes with me. But they throw me away after using me. | end

~ FHRIT(RELE S z=
up floating in the ocean. Since | look like food, some fish eat s
HCHLFS AM7E Eict ~O0[7] 0]
me. But | make them sick. Poor fish! Millions of fish die
Fugtol

because of me. Whatam 1?

~ 20|

29| T2 71 HEst AH2?

©

T2 ARRISS LIS JHRID it AXISS BISCE SHRIEE 152 LS AZ
r = =

light 7I42  material &, €&  bottle [batl] 8  throw away tzIct  float [HEH-ID
ocean [6ufon] HITH 3 since ~O0l7| 20l poor =3t millions of F#2tO|(million 242

end up floating in the ocean: Z= HiCtoll HCHLIE AIM7} ZICH (end up -ing: 2= ~5HA| ZICH
make them sick: 252 Ot BHSCt (make + 5401+ &#8Ak ~2 57 TS0



o MEtp. 47

Americans like to say nice things to other people. But they
are very careful about their compliments. Compliments about

clothing and hats are okay. But compliments about looks are
= (E43oR)

not welcome. For example, if you give a woman a compliment
L ~2 e —

on her lips or skin, it can make her upset. People are very

sensitive to comments about their bodies.

~0f 2IZSICH

W SI20 MS B HAEs HAS S ARS?

: 40 : ®
That skirt I like your Is that a new
looks good eyes! They bag? It looks
on you! are beautiful. great!
3 x[ok= HiA g2 ul =0l HZr Zofl 374 M Zrgolof?
Z oz Y2 OFSCHE. EERUNIE R =

=5

o~
—r

0I=FRIS2 CHE ARSI E2 LS ol= XS Z01ICh st
X2 252 a9l FEol| cish o Zglct 2R 2Xjol| tiet &
Th2 HECH SHXI2E 220l cheh AR S 2X| R oIS S0,
gtlo] & ofdoilA 1] Ys0|ut mlRof chet TS BT, 0l
2 JEE AR S & UCH ARE2 aS2 Llxof thigt =50l of

2 2SI

careful about ~ ~0fl ths Z&lsh=(4155 compliment [kdmploment] ZZt  clothing [kl6udin] QIE\
looks 2|2 welcome =& U= 2HSICH on ~ ~Of et lips €=  upset 7|2 &8 =2
sensitive to ~ ~0l 2Zet comment o5, &

make her upset: 1HE 7|2 Lt I} (upset2 71 LH'0[2k= o] HEALY)

Ol LINN S8
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o Xt p. 48

A Music changes our feelings. (@ ) Sad music makes people
sad, and happy music makes people happy. (‘@) After the

Second World War, many soldiers felt sad and became sick in s

2%} MIAICHZ (= World War 1)

the United States. ( ® ) Musicians played happy music for
A5t

them. (@ ) Then the soldiers became happy and healthy.

»o

W siZe| SEOR WOt Cig 20| Sof7t|ol 7 st

5

?

Music can improve our physical health, too.

OF.
=

ro

H0

{7t SEAK

ajo

2[2] AHZ

il
+
20
(=]

= o oo

N

Hounir> ||
;O\' o i

= =

the Second World War XI2xt MIAICH(CHEXIZ E7|)  soldier [séuldsor] 221 become ~atA Elct
(-became-become) musician [mjuzifon] S7t  play (S248) GFsit  healthy [héli] 7AZst
(@ improve ZHMSICH physical SAZQ!  health 7%

make people sad: ARIES £ZH| THECt



o MEhp.49

B Music can make people smarter. A researcher in the United

States carried out an interesting experiment with college

234 A3)5ICH=conduct)

students. He played Mozart before a test. Surprisingly, the

=Ct ZXEE 3H(SY712| 0|20 IR R Mo{ 19| ZES LIEL)
students who listened to the music did better on the test than
E-IL r E s
Sl those who didn't. This is called the Mozart Effect. Today, many
: ~ol= MEE  (listen to the music)
[Eixcha mothers play Mozart for their babies to get this effect.

Ct=S Mozart EffectE 2%gt 2&0lM BiZhof 252 LS NS0l op 24
ML,

If people listen to Mozart, they become  smarter .

MES0| BXZES SOH 152 o SEsHZICE

BED S0t Al2h O &=

o| st Xt EH%MCE‘%M =

J= AIE Moj| 2RIZE 292 SR
O

=
o
S0olg EO SHMES x| o

o\oww
o

o 2 M
0z T U
fn
HL i m\o
O
— G

=0

Lk
mo L &

x| 42 NI=!
o= =3 L= = =
o 2 "k 0242 BXIZE Fulatn 22Ut 25Y,
L2 Yok=0| o] 2UE E7| sl 252 oS0

A BEXEEE E0ELL

1
researcher S72At carry out A35ICH experiment A& play(828) E0iFCt  effect §I'.}\

/ (18 ) make people smarter: MHES o ££5t THECt
(481 the students who listened to the music did better on the test than those who didn’t: 222 £
2 SMIE0| EX| 2 SHIEELT AIES O & E/UCH (who= ZAICHHAIZ Me)

w

Ol LINN L8



¢13A371 88

o Mthp. 50

A Bacteria are too small to see. (@ ) But they are almost
bacterium2| 248  too ~ to -1 LT ~3HA| ga’—’f— eict v
everywhere on Earth. You may think that they are bad. (® ) For
MZIEx|E @=Ct

example, bacteria in the soil break down dead plants and
animals. ( ® ) This makes the soil healthy. (@ ) Plants grow

well in healthy soil. (® ) Therefore, bacteria help plants grow
(to)

better.

W giZe| 5202 Kol Chg 20| So7b ol 7k Mt

o

?

But most bacteria are helpful to us.

JaLf iR HE|2[ok= 22(0lA| OISTh

HiE20k= U AOIM = 4~ 8iC S
X2 252 X & 7el 2& Rof Aok g
= 50| siECte zieX|= 2ECt shx|2t
the=2| Hief2jok= 22|01A =20| =t of
£ =0, EYQ HH2[0ls =2 AES0 S
S= Zolleith. 0|H2 EYS sl et
AES2 U EY0IM E X2 J2ez
HE|2[0k= AISS0| O & RI2t=F =okEr;

ol
B

i

bacteria [bzktiorio] 2tE|2|0} almost 712 Earth [exf] X7  soil E& & break down &5l
st dead[ded] &2 therefore Mz2tM, 22122 () most CHEEQ
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B Without bacteria’s help, we cannot make yogurt, cheese, or
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kimchi. Bacteria ferment these foods. In other words, bacteria

turn the sugar in these foods into a kind of alcohol. As a result, s
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these foods produce a special taste. Bacteria also play an
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break down the food you eat into very small pieces
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Key Structures
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« Plastic makes fish sick.
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— Exercise helps us stay healthy.

(helps / exercise / us / stay healthy)
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His compliments made Jane upset.

(made / Jane / his compliments / upset)
(3) T2 F¥AHF= otolSol B A== F=Th.

Good nutrition helps children grow well.
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(children / grow well / good nutrition / helps)











